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1.4� %�#
;�� ���1�  

 
���� �,2�� &� �$���� 4Chatted Ray+   !�4$	����j� �4�	��� �	�$A� >< 
  ��	� &�� ���������B.  3	�$ �$�	 :       '�< ��G �	�$A� ��� �, �#	� ��� �     B4�	$ &�4� 

         >	��� )*/ 
���� H����� 8	��� )*/ !�� �	#	�	1.Torr 	 ���+  ��� =6�  
        �	�$A� �, �	#	��� ��*�� ��� &�	�A� &� &	�� ��*��+       3	4) ��4�� V��46X� 

 )���� B�#	�� 8��� 
λ +    ����� @���	 ν.      V��6I� ��� 9��$1 
���� ����� ]�6�	 : 
 ��<�� ��	� &� ���$��� 	< 
������ !�$	����I� &4Anode �	�$< �, Chatted 

Ray �  ;���� ��� 
�)7�     ��"�# 	< !��� =� 
	��        �4, 
�	4#	��� ��4*�� !
�	�$A�+ 	 �  ;�-�) ��� ��)�    ;�/	� &� !�$	����I� C�� �     !��� 8?4G &� 

��*��+   ���	 �   	< �	��       ����� 0�1 
�� �-�)� H�� 
���� !�$	����1 =#��   �4���A� 
      �"	/ V��61 0�1 
���� �-�)�� H�� 3	���+         
��4�� 8?G �, ���� ������� H��	 

 �,m� ��#����� !���)�� ��
���� 8?*.  

2.4��� ����$0�  Bohr Postulate   

1  ��	,�F	� �"������� &Rutherford         &	�4� ��"�< 
�� 
���� B#�	�$ �, @�� 
��	#+ ;$� � ;��<	 �:       
���� 
�	$ 3	� !�$	����I� �	#	 
($� 8��  Z     
� ��� &��	 

            9�4�$I	 �	�4�� �"�4������ �#	�	$���� �6����� ����� 
;��� 5?)$� �)�$ @��� 
 ����� V��6I�+ 1�0       �$� �, ��	#�� ��# &< 1913       ����$��4�� �"�4������ &4� 
Niels Bohr  �4����� 
��� ��� =� 9�	�$� �����A� ��	,�F	� 
��, R�� >��� 

@$��� Planck+             �4����)��� R��4�� �4����� 
�6�� 
��, ������ R���� ��;� �#		 
���!: Bohr Postulate;$� �:    

 Bohr Postulate . 1���! �!�� 8��9� :   

         �7���� !2���� &� ���� 
�� 3� 3	� �	#	� �	� ������ + <    �	4;� ���� >
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  !�4$	����j� 
�"��+  4;$�	 �          =�)��4$ �4��� �4����� �4$� <     �4;��� �;���4$ &
������Stationary+    !����61 &	�� 	� >��� .          )�4���� ��4� �4, ���� 3� �,	 

 >	��� �7�� �-�) 
�	#	�En+� ��)-< 87$	  �	;��� H�Radian  .. rn 5���� 
������� ������� )	�6���:  

2πmernvr = nh or 2πmern
2ωr = nh 

          �, �$��, 	� ������� ���($�� &� !�< !��?)72� H�� )	�6	  &<   &	����I� 
�         >	���  �;��#	� ��� 
�"�� �;� 3	� �	�n+      >	��4� �#	� 3	)� λ +   H�4�	 

������� �������� >	��� ������:   

2πrn  = n.λ  

 �#	��� 3	) &��� �$�/	 ��1	λ  �4#	� 3	) De Borgelie &	�4���j� + 
������� �������� 0�� �$�7�:   

2πrn  =  n . h / mev = 2πmevrn = nh  

Bohr Postulate . 2  

        >< ������ H�� &� 3���$2� ���� �,	En  ���� 0�1 Em       3�4��1 ����4� =4���
 �"	/ 
� )�����	�>	��� �-�)E = h.ν+  �	4� ����� 	< ���� )	�6 =��� ��;�	 

������� �������� ��	�����:  

Bohr Frequency  Em - En  = h.ν  

            
��- �;�	� 
�"����	 �;� �)����� !�$	����I�	 
�	$�� &�� �#	� B$N� �;( �$�	
   !�4$	����I�	 
�	4$�� &�� ����# ���������	����1 ��#+    &	$�4�� 8�4�� �4��� 

Coulomb� ��	����� ������� �������:   

P = 1 / 4π.ε0 . e.e/r2
  

 3.4��� ��� �	
 ��
������� �	�� ��� ����������� Radian Course  

  )��� 2 ?���
�	$�� 0�� 
�	$�� 3	� 
�"���� !�$	����I�+    �4-�) 04�� �4#� 
  ��	����� ���7�$2� �,�$���: m0rω2     ��	��� 0��� &N� �       �4-�)�� 	< ��4#�� �4-�)

�� ����#��������� �������� ��� ���� ��:  
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1 / 4πε0 . e
2/r2  =  m0rω2

  

  ��	�� !�$	����I� H��	$;�     �"�	� �, 
�	$�� 3	� 
��;� ���$� � ;��N� �     9����� &� �-�)��  4�  04�� �	�

    
�	$�� &� ������ �,	��� �,���+      !4-	 �4�� &��	 
  ��7-�        3�4������ 
�	4$�� &� ���- �;� 0�1 �	�+ 

    
���	 
�� 0��	�  )��     R�4$�	 ����A� �;��� 0�1
     V��6X� 
�"���� �-�)�� ������� ��� �,.     34� �4,	 

           V��461 �4;(� ��m �;� 0�1 �;� &� 3���$� �����
���+ 
���(�� H�� �$� �;(� 
� ������� H��	 1 &�#	���;�� 
�� �, 2  .  

  

;�� ����.�����  

    �	� ����� &��Bohr     E�	�N� 
���� 9�	�$ ��$� �, �     
�� ��$� &�   &�#	��4�;��
>��� 3F��  <   
���� 9�	�$ ��$� )��D   �4��	 &	�4���1 �#	� �;,?G �, B$A +  �4,	 

 �;��	$����	 &	��� �#	+ >	��� ���($�� �����	 Z = 1. �)����� 
���� H�� �,	 
,X        �	;� ���� 
;�� &����� &� �$� B$<     �;��	$ 3	� !�$	����I� �	;� 5�) 	..  �$�

    ����� �;��� )� E2	< ��N$     � �$����� >��� ���	�� &	����j� ��,���   �� 	< 3� � �
 B� �	7���� ������� 
�"���� �)- 87$Radian Stationer Radius+  
����4�� 

o b e i k a n d l . c o m
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 	�	� &	$�-�� Coulomb         �4�������� 
�	��4��� 
���� 
�	$� !�$	����I� )����� 
�������:   

1 /4πε0 . e
2/r2  =me.v

2/r  =  mer
2ω2 / r = merω2   

v = rω   

e2 =4πε0mev
2r =4πε0mern . n

2h2/4π2rn
2me

2 

    = 4πε0 h
2/4πrnme  . n

2 

rn = ε0 .h
2/πe2me .n

2  

ε0 =8,854.10-12C2m-2N-1   h = 6,626.10-34Jsec   e =1,602.10-19 C 

 me = 9,109.10-31 kgr   

F�	�  @�� 0�� 3: �� �  )�� 3��� ��     �)- 87$ ���- rn    �4;��� �����   n < >
��� �;���������� �������� ��� ������ ������ &�#	���;�� 
�� &	����I ���:  

rn = 5,293.10-11m . n2
  

;� ��� &	�� ��� �$�	 	 
�"���� �n = 1+, X ������ &	����I� �;� 
�"�� �)- &
>	��� &�#	���;�� 
���:   

≈  10-10m  d = 2.r1 = 2 . 593.10-11m . 1  

���� !��	- ��1 H�� 3��� �#��$	
����� 3+ �4;(� �$� T�$ 
  
����4�� Bohr 

Postulate � N             !���4���2� �4#��$ 3��4�� &�#	��4�;�� 
�� �)- 3� ���� &
�����)���. �	 0�     �	� 9�	�$ 
�	# ��Y$ ��� +            
�� �4�� B4$< 04�� 3�4� �� ���	 

    9����� &� �-�) �;��N� &�#	���;��+    ���	�� &	����I�, �     0�1 ������� H�;� &� 3��$
 0��< �;�+ 	 �  
�	$�� &� ����D          5��)� 3��$��� �;��� 	< 
�"���� H�� �)- 87$ &	��� 

��	����� ������� �������� 3�:   

r =n2 . h2ε0/m0e0
2π 

o b e i k a n d l . c o m
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      ������ H�� �, 3	�$ �$�1    	< &	�4���I� &

����  R�;� ���� �,.  

.��!"�0� �*�':  

  �,����      H�4;� ���� �, &	����I� ����
  '���� H�#$ >�"���� ��� � �?)7� ����  ��FN��� 

�������:  

4πε0mev
2r=e2  

&� �?)7� ��      ��	��4��� 
4��� �4-�) : 
2πrmev = nh+ ���44� 044�� 3744�$ 

������� �������� ��	����� &	����I�:   

v0 = 1 / 2ε0 . e
2/h . 1/n  

        ���4;� ���4� �4, &	����I� ����	
 &	�� ��� >�"����n = 1������ 3��� >	��� :   

v1 = (1,602)2.10-38 C2 / 2 . 8,854.10-12C2m-2N-1.6,626.10-34Nmsec 

v1 = 2187.103m/sec  

   �4����� H�4;� �4, &�#	���;�� 
��� &	����I� ���� �,����  Stationer 

Curse������� �������� ��N� :    

vn = 2187.103m/sec . 1/n  =  2187 km/sec . 1/n 

 .��!"�1� ����5�� �*�'ωn:   

1   j� ��	���� ���� &    &��	��� ����� ����� �;����	 &	����+      !4-	 �4, @���	 
 &��	���������� H�;� �, 
�?+>��� !-	�� �, v = r.ω ������� �������� >	���:   

ω = vn/rn = πe4me / 2ε0h
3 . 1/n3 ≈ 4,1.1016 rad/sec . 1/n3

  

   
�	4$�� &� ������ ������� H�;� �, &	����I� &��	n = 1  4�  ����4� �	�
	����������� ��:  

o b e i k a n d l . c o m
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ω1 = 4,1.1016 rad-1
  

   �4������ 
�"��4�� �4, &	����I� ����� ����� ���� ��� ����..Stationer 

Course������� �������� >	��� :   

νn = vn/2πrn = ε4me / 4ε0
2.h3 . 1/n3  ≈ 6,5.1015sec-1.1/n3  

 �� &��	�            
�	$�� &� ������ ������� H�;� ���� �, &	����I� �  � �, �)� ��$�F�
��������� !�����:  

νn  = 6,5.1015 .1/sec  

      � &	����I� &��	� !-	� 5���� ��� &��	�    
�	$�� 3	� 
���	 
�	� =)�+   B4���� 
������� ��������� �	����� !-	�� &�:   

Tn  = 2πrn / vn  = 4ε0
2.h3/e4me . n

3  = 1,5.10-16sec . n3  

       	 
�	�� ��$�F��� !-	�� &� B���� &	����I�	      3	� ������� H�;� ���� �, 
���
������ !-	�� 
�	$��: T1 = 1,5.10-16 sec  

 ����� 
��	� �/�$ H�$� &	����I� @���	 Rotation Pulse  �4������ ������ 
   &	����I�� �7����me+          >	��� ���)- 87$ ���� 
�"���� �;� �, B����� @���	 

r  + 
��	��� �/�$�� H��	$���� ��������� ���;(���:  

L = m.r.v  

     0�� 3�� �� ���	<             �4��� &��	� H�4$� 
�	4$�� 3	4� �"��4�� &	����I� &
Stationer+   
��	� �/�$ >< .      ��	��� �;��� ���� �/�$ �;���$ �/�$�� H��	 . �$�	 

�Y    �����2� &��� ��<           ����� ����� H�$� &	����j� >�"���� �;��� 5��) 	< �;� &n 
 ������ @���	vn+�)�� H��	 ������� ��������� >�"���� 
��� �/�$ �$:   

Ln = me.rn.vn  

 >��� !-	�� �,  Ln = h /2πn = n.h  n = 1.2.3+ H�� ���$	 h��������  
   � �;(�	 T�$ �$�	N            
4� �4���� �4;$< &	�4���j� 
��	��� �;��� �/�$ ���� &+ 

  &	����I�	�  =�)��<  &�          �4��"���� B�/4�$	 ������� �	;��� H�� ���� 0�� @���

o b e i k a n d l . c o m
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     !��� 
�� >	��� �������h+     8����� �$� �	7����	 h    �"��4��� >�"��4�� C�$�� 
@$�� ����F J��	+������� ��������� 0)��	 :   

h = h/2π = 1,054.10-34 J sec  

>	��� B��$ &	����j� ���$������ &��	���	:  

1/2.h/2π = 5,27.10-28grcm2/sec  

��"����� 
�"���� �/�$�� 0��� 
��	��� �/�$�� H��	+������� ��������� 0)��	 :   

Ln = n.h  

0�	A� �	� ����� �6���	 5,�	� �� ���	:Bohr Postulate 1  

4.4%
�
�32� %
���) '- ,,5�  Frequency of beam   

 3��� ���Bohr Postulate 2������ 	< ������� 0)��  ν+����� �,   34-�$� 
           ���� &�� 
�	#	��� !�-�)�� 5	�, >	��� �	/ V��61 9��$I !�$	����I� �	;�

  
�	����� !�$	����I� �	;�D A           >	��4� �4���� �-�) �;# &� H�$� &	����I� &
������� ��������:   

Ec = mev
2/2 = mer

2ω2
  

     2 >��� !-	�� �,� �� )���         ��4� 
�	4$�� 0�� 
�	$�� 3	� �"���� &	����I�  �
   ��	����� �,�$��� �-�) �	#	 :merω2 +          �4-�)�� ��	��4��� !-	�� J�$ �, @���	 

������� ��������� �;(� ���� ����#�� ��"���;���:   

merω2= 1/4πє0 . e
2/r2 = Ec = 1/8 .e2 /πe0r  

   ���    � ���$ ��� ��$�F �;#N        4������ �4;# �4-�) H�4$� @��4� &	�4���I� &�  
<>Potential ��I� ��� �;(�  &	��� 	< @���
�	$�� &� 37�$+, X  
�	4$�� �-�) &

     C�A� �����# 3�� 3F� B���� ����#��+  � 3F�� 	 	   �#� =-�     
�4� �4-�) @�4�. 
�� ������ �������� 3��� ��� ����	4Integral������� ��������� 0)��	 :   

Epot  =  1/πє0 ∫∞ e2/r2.dr  

o b e i k a n d l . c o m
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   ������� H��	!��� 1    �,������ �-�)�� ���- ��/ 2+   � 
� &��	 Y   ����74� ��
A    ��	�	� 
��- &Coulomb <   I� �����#�� 
��- >     �4;� ���� �, ��������	����

�"���� @������ &	����I� 5��)>������� �������� �$�)�� 3���	 ����F &�� 
� :  

Epot =  - e2 / 4πє0r  

  �-�)�� �;# �$�	 Potential  '���� K�7� � ) � (         )	�4� 04�� 3�4� �� ���	
I� 0�1 0��< �;� ���� &� &	����<3��+�� )	�� >< + �, &	����I� V�/< �$�	 

   B�-�) &� )	���� ���+ )�N, 0     9����� 0�1 ��"�/�� �-�)�� H�� . 	 <   V	4�#� K�7
  �,��� 0�� �;�-�) r              �4�� >�4�� !4-	�� �4, �4������ �������� >	��� 
�	$�� &�          

Ec = 1/2 Epot.  

Er = Epot + Ec =  - 1/4πє0 .e
2/r + 1/8πє0 . e

2/r  or 
Er =  - 1/8πє0 . e

2/r  

     �� ���	<      &	����I� ��� @��� �$� �;(�      
�	4$�� 3	4� 
�"�� �, �	�+   &4�	 
8	����� B$<     B���� �, �  �,	��� �-�) @��+       ����� ���� ������	 =���� �-�)�� H��	 

 
���� 
�	$ &� &	����I�.  

'����)� E?F� �)�$ �$�	�� ������ 
���� 
�	$ &� !����#�� ����:   

��� ��� 
�� �$/��,� ��1�� ���($�� Z = 79+��# �;��� 5�)� � �α 
��� &� 
 
	������Radium +>	��� ������� �;�-�)  Ek = 4,78 MeV.  

��7'��:  

 0��<��# 37� ����� 
�� 
�	$ &� �,��� >� �<Z ���  

 � 3	�$N ����# & α <   %��F� !����� ���    ��  
�	$ &� � ����� 
+ <    �;#�� �-�) &< >
��4Ep=  Potential�#� �����A� ������� �-�)�� >	���� ��<���.  

Ek = Ep  

  	�< =��>�� ����:   �#� <    !���	 3	�$ &eV       !��4�	� �4-�)�� !���	 0�1 
3	#��:  

1 eV = 1,6022.10-19 Joule 

o b e i k a n d l . c o m
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Ek = 4,78 MeV = 4,78.106.1,6022.10-19 J = 7,658.10-13 J 
Ep = 1 /4πε0 .e.e/r  …  eg = 79 .2eα 
Ep = 1/4πε0 . 79e.2e/r ...(Ep=Ek) 
r= 1/ 4πε0 . 2.79e2 / Ek  
r = 154.1,602.10-38.c2/4π8,8542.10-12c v-1m-1.7,658.10-13 J =   
r = 47,6.10-15 m  = 4,76 Fermi  

   � T�$ 3��� ���	N �# &�  ��<  ���α   ����� 
�� !-���� +  %����� !�7		   ������ �
$ &� >	��� ��� 0�� ����� 
�� 
�	4,76 Fermi.  

.��!"�0� �#	� ��	�:   

 &	����I� 
�� ������ �;��� ���� 5��) �,Stationer Quantum Course+ 
    !�$	����j� 
� !�-�) 9��� �#	�. ��	 H        J�4�-	 &�	 V�)��� B$A ��;� ������ 

!2���� H��+   �4����, �4�, �"������� 
����� 3	�� ����� ���	   34��Bohr 

PostulateE���� �;�� 37� ���� !�-�)�� V	�#� 5��) &�   34F� �Ep and Ec  
������� !2������ ���:   

Er = - 1/8πє0 . e
2/r   and   rn = є0h

2/πe2me  

 &�#	���;�� 
��� ���($�� ����� &	�� ��� �����$ !2������ H�� &�	Z = 1 
�N&	����j� !�-�)�� V	�#� &+� ��� @���	 >	��� 
��n +)�� �������� �������� :   

En = - 1/8 . e4me / є0
2h2 . 1/n2

  

F�	�        ��� !�-�)�� V	�#� &	�� @�� 0�� E2�      �����4�� �;��� �, &	����I� &	�
%���	 >	��� 
���	+�>< n=1+������ 3��� >	��� ����A�� 3���, :   

E1= - 1/8.(1,602)4.10-76.9,109.10-31 / (8,834)2.10-24.(6,626).10-68  
E1= - 2,179.10-18 Joule  = - 13,60 eV   

      %����� 3��� ��� &� �#��$�� ����A� H��	 �7 �+���   &����� &� &��	  &<  �  �4�*�
   A �#��$�� �, E?��-      ������ H�� �, &	����I� &�         �4�G 
�4��� 
�	4$ 3	4� @���

�#�;��+$� &������ 
�	$��	 &	����I� @��� ������� �, B$A ������ 3�F �)�+ ��;�	 
             
�4�F��� 3	����	 !������2� ����)� &��	 3��� �, 3����� 5���� ��� �#	� �����

o b e i k a n d l . c o m
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  �$�7	1      5��) &� =$���� 3��� ��<  &�#	���;�� 
�� ��+     �-�) >	��� ����� ��;�	 
������� ���?)72� ������ H�� �, &	����I�:    

E1 = -2,1675.10-18 J  =  -13,53 eV  

  &��	       
��� �;� 5��) �, &	����1 �-�)n      )���� �������� 3��� ��� >	���  � 

E���������� ����� �:  

En = -2,1675.10-18 J .1/n2 = -13,53 eV . 1/n2  

  �$� < %��)$� �� ���� ��   
��� ���� �, &+   0�	A� ������ ���$��� :   >< <   �4-�)�� ��� B$
E1 0�1 ���$��� 
�	�N� &	�� E∞ = 0+�� ������	  ��$�FE1 = 0    !2�4��� H�4;�	

=#����� �, ���#$ 3	���� &� ��� �#	� ��;���.  

;$�	�         �	;��� ���� �, !�$	����I� )$ 	< �,���  )       �4, �4��� ���� �� ���	
��� !����6I� 9��$1 !����������� 
��� 5�)� ���� ��25..(   

           ��< �;� 0�1 �;� &� !�$	����I� 
� �,���� 	< 3���$�� ���� ���+   3	�$ 1  ��� B$
    9����� &� �-�) �;��N� 
��+  ����- 8	��� +       4� �4-�)�� H�4� =�)��� N   =4,�� &

            04��< =4���� �;� ���� 0�1 C��$��� H�;� &��� ���� &� &	����I�.  �4�	 � 
 &	����I��E�-	 =������ �;��� �, 0���%��7- �   �4����� >	��4� 10-8 sec �4�	 � 
  &	����I��     B��$ &� !-	�� ��� ��� )��    �;� 0�� <  �-�)�� 8��/ 5��.   �4�����	 
 �� )	���   &	����I� �  
�� �-�) �)�+   	< �       �4-�)�� ��- >	��� �-�) ����� @��

  ����<   9����� &� 
���� �;���+           �	4/ 3�6 0�� =6� 	< �;(� 
���� �-�)�� H��	 
 3F� ���Infrared or  Ultraviolet.   

       %�	/ 3��� 
���� &< 0�� 3�� �� ���	+�   � =6� 	<      &	�4���I� �4�<   C4�� 	
  !�$	����I��        =���� �;� ���� 0�1 5��� �;� ���� &� 3��$+      4� H�4$�� &< >< N &

     R�;��� ���� 0�1 �����A� �;���� &� !���$� �;��$ 
����.  R�4;��� ��� ����� ]�6�	 
'���� �,	��� 3�F�N� 5�) 
�� ��� 0�� ��N$'����)�	 �;$� R�;��� !������ ��:  

o b e i k a n d l . c o m
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1 ��� R�;�� , E?F� ������ 5��) &� 
��X   �4������ ��	4��� &Carbon and 

Natrium ;����� �     ;���� ��#� ���6 �	/ 0�� �     R�4;��� �4���� 0�� +   !4-	�	 
  ;���� 0�1 
�	����   �����A� � %�	/ 3���   	< �=6  %��F� &��	�      ��	4�� !���4�� &� 

;����  ��-�� 
��F��;#�;�� �'�# ������ ������ �-�) �.  

2 � @���	    
���� R�;� ������ +      ��#�� 	< 
���� !�$	����1 8�- E?F�  4"!� mol 
������� !�$	����I�� Electron Push +  54��) &4� ..Chatted Ray  H�4�	 

     ��#�� 	< 
���� R�;� �;(� �������"�+         =64��� >��4*�� �	�$A� �, H��$ �� ���	 .. 
Neon  +    !����� R�;�� �$�< ��# 	"     �� &	�� �	/� =6�	 ��*�� !� ��*�� �+   �4�� 

          !��� !�4$	����X� 
�)7� ��"���;��� �-�)��� �������� ������� �	�$A� !�$	����1
��*��+�	 �;��	�� �;���� 0�1 � 8	��� )*/ !�� �����A� �=6.  

3 �       �4���- 
��4� 0�� �"	/ V��61 )��� ��� @��� ���� 
���� R�;� �����	 
  �;�����R�;��+ ;$�	 �    �	����� 
��� Phosphor+       5��) &� =6� ���� ��	��� H��	 
�	/��+      ;� ���� ���� 	< 3���$�� >< 	        04��< 04�1 5��� �;� &� !�$	����I� �+  
;���$� Florescent�	/�� 5��) &� =6� ���� ��	��� >< .  

      &�� 
� !2���� H�� �,	1          �4-�) �#�� &� ����- 	< &	����I� 3���$� ����� 2
0��< 
� �-�) �#�� 0�1 
�+���	   �4���� ����� B���$ �� Quantum sprinkle. 

      &�#	���;�� 
�� 0�� ������$ 8	� H�� ����� �����	+ ><   ���4$�   5�4�� �4��$
    &	����j� &��;� ���� &�� �-�)��+      �;� ���� &�� >< m  �;� ����	 n+, X �-�) &

)���� &��;��� !�-�) &�� 5���� >	��� ����� 	< 3���$2��������� ��������� 
:   

ΔE = Em-En = -1/8.e4me/є0
2h2m2+1/8.e4me/є0

2h2n2 = 

ΔE  = 1/8.e4me/є0
2h2.(1/n2-1/m2)   

   ������� H�;� T�$ �$�+ <            04�1 >�4"�� �;� ���� &� ����� 	< 3���$2� ����� >
��m+ � 4� =�)��$ 
�� �-�) R�$N     �4���� !����4�� 84�)� �4��;($ &Bohr 

Pustolate 2 .	 )����� &��	1� 3��� ��;(�) &� !���4���� ���� 5+  3����4$ 

o b e i k a n d l . c o m
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 �#	��� ������ 3��� ����)N  
4�� B�  0)���� Wave Number+  04)����	 
������� !2�������:   

N =1/λ = ν/c .( c = νλ )  
ν = c N . N = ν/c   

 ����� ��� &� �������� H��	Bohr Postulate   ��4��� �4������ �������� �$�)�� 
�#	���:  

hν = hcN = Em-En = 1/8.e4me/ε0
2h2(1/n2-1/m2)  

N = e4me / 8є0
2h3c.( 1/n2-1/m2 )  

  !4��F�� 3����� 5�6� 3��� ��� &�	Ry  � 0��4��� Rydberg Constant 
����� 0)������������ ���:   

Ry = e4me/
 8є0

2h3c   
Ry=(1,602)2.10-76.9,109.10-31/(8,854)2.10-24.(6,626)3.10-102.2,998.108  

Ry = 10973731m-1
 

Ry = 10,973731.106 m-1  

     =-	�� ��� &�� 
� 3��� ��� �#��$+A  &�� &	����I� &� �, 
���� 
�	$ 3	� �	�
     ;���� 5���� &	����I�	 
���� >��� !-	���  ������ )�$� .  7� �#��$	 �  �4���F�� K� 

Ry+       �#	��� ����� ������ �, =/$ N+     &	����I� ���� 3�� me    &� 
�	�N� ���� 
 ;�� 
��&�#	���+ <  >mk  ����F K�7�,  Rydberg       �4������� �4����� ��*�� >	��� 

������� �������:   

(m*e = mkme  /  mk+me) 

Rh = Ry. mk / mk+me =  Rh = 10,968.106 m-1
 

7��� ��� ��� &�	  ������� �, K�+ < �#	��� ����� K�7 N   �4������� >	���
�������:  

N = Rh.( 1n2-1/m2 )=10,968.106m-1.(1/n2-1m2)  

o b e i k a n d l . c o m
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 ���($ &� ���6��� �������� H��	Bohr Postulate+ 1   &4� �47�� ���� �;$
 �"������ ������Balmer 8�) ��� �������� Spectral line.  �4$� &�� �� ���	 

�N�� 5��) &� &�	 	< J�- �� ��	��� @����� ����F & 4Spectroscope.   

5.4�*���� ]�6 ' ��&  

 ��� &��,���� ������   ��	�#��m = Ry(1/n2-1/m2)+ �$� �;(� < ���($ &
    �	7���� 3��� 0�1 �$��7	< �	�+ <  ><          !�4#	� 3	4) �)�� 	< 3��� 
�� 3� &

      ���� 
���� >	��� !������� 
�����<     8�) &��	< &� !��Spectroscopy+  ���	 
 &� 8�� 3�� �������� �, =/� ���m.. and n%����<  � ������� ����� ..  �$��W� 0$

    
���� &� ������� !�#	��� H��+        ��4� �4������	 3������� ��	�#�� 0)��	 
!�������	 !�#	���.3	A� 	/��� =/	 ���� �������� �, �#$ �$�  1/n2.+ ���$	 
����A� =/	�� ��� Ground term+  ������ �$�F�� 	/���	 1/m2 	/��� B���$ 

@������ Course term.�� 3	) 3� 0�� 37�$ 0��	 !�#	�+   ���4� @��4�	 
!�������+ 8���� �)�$  n ����� ����A� =/	�� �, n = 2+  8�4���	 m  �4, 

  A� @������ =/	��    =������ ��� ����4.3.2+       !�4#	��� 3	)� 3� 0�� 37�$, 
 &	����j� !�������	 ���$�  �       C��$� �;� 0�1 0��< �;� &�  )��+   T�$, <   H�4� &

     /�� !�#	��� )��� �, 
�	#	� !�#	���	��"        &	���4� �4,	����� Ultraviolet 
     ��G ��	/A� &� H��G	���	($�
 .       0)���� )����� �, !�/	 !�#	��� H�� ��<

    ��	�#� 
�� B�Lyman+  3��� ��� + <   ��� >�      =���� �;� &� &	����I� )��m 
C��$� �;� 0�1 n. ��	����� 
��� !�-�) 5���� 
�- �)�� 5���� ���	 Em - En 

= νh;$�	 � ��6 ����� ���� 5 Rydberg������� ��������� ���;($ H��	 @�����:  

  Rydberg Frequency 

 ν = e4me / 8h3є0 . (1/n2-1/m2)  . R = 3,288.1015.1/sec  

o b e i k a n d l . c o m
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      �#	��� ������ 5��) &� �F����� 3	���� ���	 N+ , X     >	��4� ������� ���� &
������� �������� ���:   

νn = Vn / 2πrn = e2me / 4є0
2h3 . 1/n3 = 6,576.1015 .1/sec  

           �	/�� �, !������� ����	 !�#	��� 3	) 
�- 3�F�< 3�� &��	<'��    B4�	$ &�� 
< 	< ���<5��+������� �������� ��N$ : ν = R(1/n2-1/m2)+ =/$	 n = 2 �)�$	 

  8����m     &� ��������� ����A� 3   5	, �� 0�1 .        3	4) 04)�� H�� 3��� ������	 
 
������� !�#	���           �;� 0�1 �;� &� &	����I� ��- !-	 �, ��	�#�� m��+   �4$�	 

              �	/4�� �4������ !���4���� ����	 !�#	��� 3	) 
�- 0)�� ������� 3	���� ���
������� 3�F�A� =��� =6��� ���$���:   

F��  �4��A� �	/��  �#	��� 3	)	 ������� ���� �	#	� E2(r)   �	/4�� @��4�	 
5��A�(b)� Y��� !2������ ������:   

νr = R(1/n2-1/m2) = 3,288.1015(1/22-1/32).1/sec = 

ν = 4,567.1014.1/sec 

λr = c / ν  = 3.1010 / 4,567.1014 = 656,4 nm(Red)  

νb = R(1/n2-1/m2) = 3,288.1015(1/22-1/42) .1/sec  

λb = 486,3  nm (Blue)   

=�	� �7:  

  � =�)��$ 0��N      )	)� 
�- =� R"��$�� H�� 3���$ &    84�)�� ..Spectroscope+ 
              ���4��� ��4��� >	��4��� �	/�� J���$� 3��� ��� 0�� R"��$�� H�� ���- �#�     : 

n = 1,000288+A  �#	��� 3	) &<)	)��� �#	� 3	) &� 3���� �7-.  

o b e i k a n d l . c o m
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��� ��	�#��� H��	! ��	�#� Balmer Seri  34�- ���� >���	��� J����� 
<%��# 
���� 8��� & �$� �, �1885��   B�����4� n = 2 +    34��� �4���)� �4#	

�#����    ��� ���� ��	�#��� H�� ��! B���� . 	 <       ��4����� &� ��F� H��� 0�<  �	�4�
 ����A�5.4.3 n=E��2 ����� 0�� ��N$ ���� 
������ !��	�#��� �	�#		 � .  

 �#	��� ����� 5��) &� ������ 3��� ��� &��	N = Wave number �, 
>��� !-	�� ν = cN  or  N = 1/λ = ν/c .. (c = λν)   !��?)472� H�� &�	

�	� ���($ ��� ������� �������� 5�6�Bohr  ��	����� �   5�4� �4�� ��	��� ����
�� 
���� �, ]�6	�5�� >:  

hν = hcN = Em-En = 1/8.e4me/є0
2h2(1/n2-1/m2) 

N = e4me/8є0
2h3c.(1/n2-1/m2)   

N = Rh(1/n2-1/m2) = 10,986.106m-1. (1/n2-1/m2)  

     � 3��� ��;�  �$�#	 �$�	N     �#	��� ����� ������ &N     �4#�$��� &�#	���;�� 
��� 
 
��� �-�)+        �#��$ �)�� ����	 ������ �	#< �;$N� <%��$ �F�  �4����� &4� � Balmer 

�#	��� ����� ������ 3	�$ 
����� H�� �#��$ �;($ 0��	 N��� ��� :  

N = Rh/n2 - Rh/m2 = Tn-Tm 

Tn = En/hc and Tm= Em/hc 

o b e i k a n d l . c o m
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   8��A� &N� �$� T�$,Tn @���	 Tm ����� �    ���4�"��� 
��� ����N� & m.n  �4��� 
;���$� Term+������ � �#	��� ������ N  5	�4��� �)���� Term difference+ 

             ����A� ������� �;��� �, �;�$� ���� ����� ���� �����2� &��� ��N$ �$�	<   �4, >
����:   

a  n = 1 ,  m = 2.3.4 

������� !2������ 5�6� ��;�	:   

 N2,1 = Rh(1/12-1/22) = Rh . 3/4 = 8,226.106m-1
 

 N3,1 = Rh(1/12-1/32) = Rh . 8/9 = 9,749.106m-1  
 �#	��� ����� !2���� H�� 3�	 N+ 1;$��;��� �, 
��� ��- ��7�� �������� :  

n=1  

   � =�)��$ !2������ H��	N ;�($$ &� ��	�#� 3�6 0�� Seri��$� 8	�7 	< � 
 0�1 8�) )	)�� ���;$?�∞.   

  ������ H�� �,	+       ��� �7�� �,����� &< >< m ���� +       >	��4� K�74� H�� ���	 
�>< ���;$?�..m = ∞+ �#	��� ����� ���N���� @���	 N  �, K�7�����;$?�+ ���$	 

������� ��	�#��� H�� Seri Limits+ ������� �������� �;$�	:   

   N∞,1 = Rh(1/12-1/∞2) =  Rh.10,97.106m-1 

 ��	�#��� H��	<�� >4 Seri+    84�)�� )	4)� &4� Spectroscope line  
 	 ������ < &���  '����)� 3�� &�.     �#	��� ����� 
������	 N+   4� =�)��$ N   �4#	$ &

       �F��$��� �	/�� !�#	� 3	)	 !������� ���� 3�� @��� ����). )	)� T�$ ��;�	 
     �, 
�	#	� ��	/A� H��     3F� ������ ��	/A� )���Ultraviolet ���G	 �   �4, 

3� 8�)Spectroscope��#	 ���� �  �"�4������ Th.Lyman (1954-1874)+  
     ��	�#��� H�� ����� ��;�	<  	Seri ��� !    �4�	�#� Lyman+     0��4� �4��� 

Spectral Line 0�1 �;� &� ���� ���� ����� ����� ��� m  �4����� �, �;�$�	 ��
 �����A�Ground State�$��	���� +����� >< � ������ 
Resonant Line ����	 

������ H�;�  ������� !2������� 0)��:  

o b e i k a n d l . c o m
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b n = 2 , m = 3.4.5  

������� ��������� �;(��� �#	��� ����� =��� 
;$�	:   

N3,2 = Rh(1/22-1/32) = 5/36 = 1,523.106m-1  

     E?F� �������� H�� &�	�  �#	��� 3	) 5�6 λ3,2  

	    ������� ���� @���ν3,2  

  �4,
H��+������� !2������ ��	����� ������ :   

λ3,2 = 1/N3,2 = 6,565.10-7.m = 656,5 nm  
ν3,2 = cN3,2 = 456,67.1012 .1/sec  

  ��$ �$� &�	) � =�N �-�)�� �#�� &� 
��� ��- !����� =���$ &3  &4�	 =��� ��	 
 H��<=������ ����� >+��	�#� !#�$<  Seri �   84�)�� )	4)� &Spectrum 

Line.   

 
��� !�-�) !�#�� )	)�� ��	�#� 9��$1 ������ @��� =�)��$	 4 	 5  �4��� 
 ;$� 
�-�     ��	�#� �, �	#	� Balmer+         )	4)� )�4�� �, �	#	� 
�- @���	 

Infra red+  �4�"?� ���6$$ !��	�#��� H�� )	)� �$�	 !��	�#��� &� ����	 
�� )	)� ��	�#� &� �;��6��� ���;�� 
�&�#	��:  

N = Rh(1/12-1/m2) ;m = 2,3,4 Lyman Seri (1906) Ultraviolet   
N=Rh(1/22-1/m2) ;m=3,4,5 Balmer Seri (1885) Red to Ultraviolet 
N = Rh(1/32-1/m2) ;m = 4,5,6 Paschen Seri (1908) Infra red 
N = Rh(1/42-1/m2) ;m = 5,6,7 Brackett Seri (1922) Infra red    

N = Rh(1/52-1m2) ;m = 6,7,8 Pfund  Seri  (1924) Infra red   
N = Rh(1/62-1/m2) ;m = 7,8,9 Humphrey Seri   
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������: 
���A� ��	�#��� &� 1�0 �U)	)��� 8�) &� 3��- �#	 &  

    J���� ��;� ������� �	7�� �,	+ 
�	7  �#	� �;�       3� !2�� ��6$1 &� ]�6 
  ��;�� 
��� !��	�#���   >��	7� 9�	�$ ����)� &�#	�+       �4���� &� ��� �� 
;��� 

           3������ 3� �, ��m �;� 0�1 �;� ���� &� 
��� �-�) ��-+   � &��� @���	 N   �4;� &
��4Radian       
��� ��� =���� ����)� =�	�� n+       &�#	��4�;�� 
�� >��� !-	�� �, 

  �#�<   !�#	��� 3	) ���� &+            !�4���� &4� 
�4���� ��4� 8	�4�� ���	 
��4Spectroscopy� N  84�)�� )	)� &Spectra Line��  4� ��4$� ��  
��4- 

��7��2�+ ��$� �   ���� ���� �, ��� !�#	��� 3	) >	������ @���  4�� �, 
�	7
�������.  

 �	7�� �, �#	 �� ]�6� ���� �$�	�������������� )��$��� B7����$ :   

1 � � N        ������� !�-�) !�#�� ��N� 
�� 3� &Continuum+   �$ �� ���	   �, H�

�	7�� 2.17J���� ������� + �-�)�� 9�	�$ B���$ �� ���	 Power term 0��	 

)���x <  >Ordinate 
������ 
��� �	;� �#	� Stationary Quantum @���	 
�-�)�� T	��� ����. �����A� ������ �, =��� ���	 Ground state   &	4�� �4�� 

%��7 >	��� ������ H�� �, �-�)�� T	����.  

2�   � T�$ �$�N          5	, 0�1 !�� &� �;����#�� !��< ���� 
;�A� &�  3������� 3F�
 
��� !����61+          �;����#�� �#	����� 
;�A� T�$ �����)�� 
������ ���� �, @���	 

� ��	�#� �;(Lyman Seri.   

3 ��� 9�	�$ 5��) &� @���	  4  Term Schema
�	7 
-� 1.17  &4� 
   � =�)��$ J���� �	7N  ���� <��$ &         &4� &	����I� 3-�$� ����� �, �-�)�� ���� �

    ���# �;� ����Stationery   ��m �;� 0�1 . ���	 
��   , �-�)�� ���� X   �4����� H�;� B$
       9�	�$�� &� 3��6�� �;# 0�� !�-�)�� ���� !�)�<+    �$��� ��	 1  2<    H�4� ]�)$ &

C�� &� �;/�� !������.  

4 �  9�	�$�� J�$ 5��) &� @��� ��<	<>Term  ) 4�� 
�	7 
�4��A�  &4� 
J����( �;($        
��� !�-�) !���� &�� �,�����n+         
4��� ��4� V�4����� &��	 n  
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 �,����� �*7�  +    4� J����� �;(� @���	N         ���4� �	4;�� ��4��$;�� �,��4��� &
V������ =���� !�$	����I�  
��� ���n .   

    , 
��� ��� ������ &��	X         !�#	� ��	�#��  �;/�� &� ����� 8�)�� )	)� &
-   B���4$ 8	�4�� �4� 0�1 
��7 Seri Limit Continuum. 84�)��	 + < >

Spectrum+ )�� 0    
�� B� Continuum         )	4)��� �4, 5��4�� B�, &�� 
� ��� 
Spectrum Line+��#	� 3	) &��	 B =)��� &	�� &	�� .  

 ���� �	>!?	%: 4�� &� ����� =���� 
� ��� ��� 4Limit Continuum+ < >
�� �	�� &�4Limit Continuum+�-�)�� T	��� �#	� ��� 
� >��� !-	�� �, + 

      �� ��� ���� �, �����?��� �������� K�7�,� n =���� +     
���� !2�� 3��� ��;�	 
�"������� 
��� .�� ���	�;(�  �4;��� ���� 5��) &� Course Corespondent 

Principe�� �, ����� �#	� B$N� 4 microphysics Object+   ���4�� ��4;�	 
!�)�<�F�A� �������� :  

5� �� ������� ������ 
;��� &�� �;���$ �Seri Limit.   

������:    

   ������� 
�	7��          &� &	����I� ��- ���� ��� )	)��� �;� �	7���� J���� &�
   0�1 ������ �-�) ����  �/��$� �-�)+         �4;��	�#� �4;� �#	� ������� H��	 Seri 

 �� @���	�  ������ &	����I�     
��� H��-�    %��F� ���� �;� �, �#	  
�	$�� &� �+ <  �;$1 >

���� )��� &� �#��� !��7<.   

 �;�-�) K�7�	 
���� �)��� &� ��� 
�	 � ��"�;$?�E∞ = 0%��7 >	���  � �$�	
    &	����I� ��� �7-�    H�� &� �����         �4, 5��4�� ��4�� �����A� ������ 0�1 ����  

������� �������� ��� !�-�)��:   

  E∞ - E1  = - E1  

�-�)�� ��)�1 0�� 3�� �� ���	E1 +   &	�4���I� �4�� B$N� T�$ ��$�F �;# &�	 
����  �����A� ������ &� Ground State'�# 
���� �,����    
�	4$�� &4� �..   �4,

    %#��� @��� K�7< >��� !-	���     
���� �)��� 	< )��� &� +     4� 
���� 0�� �#� N &
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�)��  �-�)��E1)���� �-�)�� H��	 � 
 �;���$ 
���� &�Ionization Power+ <> 
 &�N��� �-�).         �4� K�7N, 
���� &� &	����I� ������ !�7� H��	 � ��#  4"  �Ion +

 >	��� �;$�N� �-�)	Eion = 13,53 eV 9�	�$ 5��)� ��� Bohr model.  

   ��� &�	��j� ����?��� &	$�� @��$��	����Electrodynamics+ ��� �#� B$N� 
  &	����I��  �	�   2 
���� 
�	$ 3	��� �H�; &<       �#	� 3��� 	< ��� 1 ����)�$*�	����

        &	����I� &��	� ����� ���� >	��� �;����� ����νn+      �4������� �;� !�)�< ��;�	 
������� �,	�����:   

νn = e4me/є0
2h3 . 1/n3  

, ��$�F �;# &�	X ������� & The Frequency  ν   )	4)��� 8�)�Spectral 

Line+  -	�� �,    >��� !�         
��� ��� ���$� &������� &��;� ���� &�� &	����I� &	�
 ���"���n+  ���� �, @���	 n+1������� �������� 0)�� :   

 ν = e4me/8є02h3(1/n2-1/(1\n+1)2) =  
       = e4me/8є0

2h3 . 2n+1/n2(n+1)2  

  c)�$ 
� ��� &��	
��� ���� n <&�� ��� >+, X ������� &νn����� @���	  ��ν �����& 
&�������  
���� �, .   � H�$�� ���	 N       !����� �����, )��� �, @���$��	����2� &	$�- &

3	��� ��G+ 
��� ��� V����� �, &��	 n ������� ���� &�� 5���� K�7� νn �������	 
ν%��*7 �+ K�7� ��;�	 n = ∞دد ا�������� �

� ���دد ν  و����� ����  νn  +  ��4;�	

   V������ �����   
��� ���n         &��	� ����� &� ���$��� V��6I� ����� !����� ������ 

�	$�� 3	� &	����I�.  

5� J�������F�The 4 Quantum number (n,l,s,m)א�Eא
���א�� �

              &��	� �	4;� ���� &� ������� 
��-A� �, �$��� !�� ���� !������� 3� ���
  
�	$�� 3	� &	����I�+    �;� ������� 
��� ����<	 + ��	         ��4�"��� 
4��� ��4� �7.n 

     &�#	���;�� 
�� �	;� ���� �, 0)����+        
��� ����< 
�� J���� ��;� �$�)�< @���	 
����A�+ A $    @��� �$�#	 �$<  ���G �#	� B$�     ��	4��� !��� �4�G �, 
��� ����< &� 

&�#	���;�� 
�� B��6� ����. ;$�	�:  
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1 � 5�� !�;�� S,
�	 ,��	 ]�6  VAlkaline Element  

�	   �	� H�#	 �� &�Bohr        &�#	��4�;�� 
�� 8�) )	)� B�7	� B#�	�$ �, + 
       i��� 
� >��� B���# �, �	#	��� 
���� &��+   3� < E���) K�,�     4� ��4������ ������ N &

�	� 9�	�$ �	������+ < B� �	7���� >Bohr Model+  !�4����� 3�� �  8	4�)�
Spectrum             84�) 34�	 3����4�� 54��) &� ���7�� !����� &� �����   
�� 

   %��	� ��� >��� &�#	���;���.         0�� 8�) ��6$I B�����$	 B��6$ 8	� �� ���	 
      
;���� 9�	�$ ���� ��	��� 3�Atom 	<  ��#"
;�� Ion �   &�#	��4�;�� 
�� B��6+ 

  ������� ��	��� 3F�: (Li,Na,K,Cs,Bb) .     ;��6� B���� >��� 9�	�$�� 0����  
��� 
     >��� 9�	�$�� @���	 &�#	���;��<$	��� �� B4Ions  �;��6� @��� +    &�N��� ����� �$�	 

 &�N��� ����� ������� 
���� H�� >��� !-	�� �, ����<>Ionization  +  �4��� ���
   !�$	����I� &�� ;$��� @���   2	 
���� &�  ��� 0       H�4� 8?G �, !�$	����I� &� 

 
����1��G 2 ���	 &	����1 2.F�	 ��� 
�� @�� 0�� 34Helium Atom+  H�4� 
��� 
���������($��  Z= 2 +��� !�$	����1 �;,?G �, �#	� @���	 ��  >	��4� 

=2+      &� ���	 &	����1 ���	 2     &�N��� ������ 
	�� 	   
	��;�� 
�� 8?G @���+  0��� 
      >	��� 8?*�� �, ���	 &	����1He+    E�7	 �)�� ������� H��	 � 9�	�$� +   �� ���	 

   &�#	���;�� 
��� B��6��� B���$+ A  H�� & <         �4, @4��� �4#�$��� 
���#�� 
���� >
E$	����1 8?*���%���	 � ��G 2 �����#�I� 
�	$�� 3	� �	�.   

  �	� �$��< ��1	�     &�#	���;�� 
��� �;��6��� 9���$�� 3� +  � =�)��$ N  ;$� 3	�$ &� 
<;���$ 	��#� 3� 3"��� V	/	� ���� � &��2 body Problem+  �4�< �#�	 

;��� �$	�6� 
�	$� <�	��� > ������� !��?)72� � ..  

Q = Ze  

	�   E$	����1 E?F� ��N$ ]�6�� �   ����� �$�6� E?��� @���: (-e)+    5���� T�$ �$�	 
    � &�#	���;�� 
��� J������ �	#	���N         ��	4��� 9�	4�$� 
�	$�� 3��	 
�	$�� �$�6 &
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    &�#	���;�� 
��� �;��6���<   &�#	��4�;�� 
�� &� ���+    4� @��4� =4��� �4��	 N &
��4Radian     ;��6��� !����� 9�	�$� 
��� �	;� �     &�#	��4�;�� 
��� <    &4� �*47
��4Radian       �;��$ &�#	���;�� 
��� �7���� 
��� �	;� ���� + 	 <     04��� �� 3�� B$

 � =�)��$N  ;� 3����$ &�             
��4� E?�4- !����4�� �4��� !2��4����	 3	���� J�$ 
      &�#	���;�� 
��� �;��6��� ��	��� 9�	�$ 0�� &�#	���;��+ �	     �, H���$2� �$���� &�

 �������� �$�6�� �, ��	�	� 
��- 3������Q = Ze+	 <  4� =�)��4$ @��� B$N &
     �#	��� ����� ������ 3����$N   ;��6��� ��	��� 9�	�$� �     &�#	��4�;�� 
��� �;���� 

)���� �������� ��	������������� 
:  

N = RyZ 2(1/n2-1/m2)  

� 3	�$ ������ H�� �, �$�	N 8��A� &m.. n�����) ����< +	 <$B  �4�� m >n 
   � !)�< !������� @���	N   ����F &Rydberg       ��	4��� !��� 9�	�$ �, �;�������� 

        &�#	���;�� 
�� 0�� �;������� &� 5���� &�#	���;�� 
��� �;��6���+   5���� ���	 
     E���� �$�#	 ��� �����2� &��� H��N$ � �N          
��4� �;��64��� ��	4��� 
�	$ 
�� ���� &

�  &�#	���;�<    &�#	���;�� 
�� 
�	$ &� ���.        
	4��;�� 
�� �4, T�$ 3F�� �$�	 < &
 ���($�� �����Z= 2 ��	�#� �"6$� �	� 3��	� ���	 Seri  �4������ )	)��� 

 �#	��� ����� 5��) &�N: 

N = 4He(1/12-1/m2) ; m = 2,3,4(1Lyman Seri)  

N = 4He(1/22-1/m2) ; m = 3,4,5(2Lyman Seri)  

N = 4He(1/32-1/m2) ; m = 4,5,6(Fowler Seri)  

N = 4He(1/42-1/m2) ; m = 5,6,7(Pickering Seri)   

      '����)� �#	 )	)��� ���� &� ���� 
�-	       �;��6��� 9���$�� ��G �, 0�� @���	 �
&�#	���;�� 
���+ ���($ 5�) !�#	 Theory ���	!�� �	���� �"�� �	>!?�	%�:   

1 � 1� 
�� �)- ���- & ��� &�#	���;�Bohr Model 4%����� @��� !�#	  �
����?��� ����)��� 3��� ���.  
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2 �    )	)� 8�) Spectrum      %�	��4� @��� �#	 &�#	���;�� 
��� �   9�	4�$� 
)	)� 8�) ��#"!�Ion  <&�#	���;�� 
��� �;��6��� ��	��� >.  

3�&�N��� �-�)� ���� ��� ��<   Ionization Power�	� ��� +����)� �#	  
3��� ��	���� �;$N� ����?���.  

4�   @���	 < � �;(N   ����F &Rydberg        !4��	F�� =� 06���� 3��	� �	� ��� 
�����)��+� �#	 @���	 N!�������	 &��	A� 
�- >	��� �;���- &.  

  F��� ���$ �$�	� ������ 3:          �4$��� �#� R�;��� ������ &�#	���;�� 
�� ��#$ 0�� 
�N     &� V��61 ���� �;��� 5�)$ &        >	��4� ��	4� 
��4�� ��������� !�$	����I�       

U = 12,8 eV������� )��$�� ��#�1 �#� ���	 :   

  A ;�� ��G R�;� &� ���� 8�) )� 
��&�#	��Z   

 B ��#	���� ����A� 
�- �� 
� N)	)��� H�;� Z  

 C < )	)��� H�� &� >T�� &< &��� &�	 <	� 87 >Seri Z   

<=��:   

A  � =�)��$ 0��  N$ &    ��4��� &4� ��4���A� �;�-�) &� &�#	���;�� 
�� =,�
�����  >	����� ���"��� n=1          �4�������� ������� H�� ��� 0��< �-�) T	��� 0�1 

�������:   

Er = - 1/8 . e4me / ε0
2h2 . 1/n2

  

 ����"��� 
��� ����< ��� !�-�)�� !2�� 3�� ��"2 !�#	 �$�n:  

����"��� 
��� ����<n..2                 3               4          5         n..   

!�-�)��..           E 10,15 eV   12,03eV     12,65 eV      12,99 eV   

>	��� ���	#	 �	7���� �-�)��	 :Er = 12,8 eV.  

1     &�#	���;�� 
�� &	����1 & < &���  &�    T	����� 0�1 =,�n=4+    04�1 
�	����	 
�� ��- =��� �����A� ������������ 
�:  
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3�- :n=4      n=4     n=4     n=3     n=3        n=2  

���:n=3      n=2    n=1     n=2      n=1        n=1   

1     &�#	���;�� 
�� &	����1 &� � =�)��N  &� �4� R�$�  84�) )	4)� + 4;$�	 � 
�#	��� ������ ������� )	)��� N .  

N43 = Ry(1/32-1/42) = Ry.7/144 = 5334,5.102m-1 
N42 = Ry(1/22-1/42) = Ry.3/16 = 20576.102m-1  
N41 = Ry(1/12-1/42) = Ry.15/16 = 102879.102m-1

 

N32 = Ry(1/22-1/32) = Ry .5/36 = 15233.102m-1
 

N31 = Ry( 1/12-132) =  Ry.8/9 = 97491.102m-1 
N21 = Ry(1/12-1/22) = Ry.3/4 = 82258.102m-1  

1, 
�	#	��� 8�)�� )	)� & �N42,N32�	($� +
	 �  &4� �4���Balmer  

Seri.   

B ..F�	�  @�� 0�� E2+  E$	����1 ��N$� � %�	#	� �       
�6��� �, J��$�� 
�� 8?G �, 
L+��	 � � 
�6��� 0�1 3��$K>	��� �-�) B���� ��;�	 :  

E = 8,03 eV  

1 �< 	�;� �#	��� 3	) @���	 ������ ���-  �#�&	����I� .  

2 � �, < �#	� 8�) )� >V��6I� ���Z  

����: 1>	��� @$�� ������ ��� ������ &:  

ν = E/h  = 8,03.1,602.10-19 J / 6,626.10-34 J sec = 2.1015  Hz  

>	��� �#	��� 3	)	:   

λ = c/ν = 3.108msec-1 / 2.1015sec-1 = 150n.m  

 �$� �#	��� 3	)	>��� &�� 
� H�$�#	 1&�#	� �#	� 3	) 2 Roegten Seri   

C.. �$�  �#	� 3	) �	#	 &����� &�De Broglie�;� � &	�� ��� &	����I� 
>	��� ��	��� �-�):  

eU = 1/2 .mev
2 λ= h/mev  e =1,6.10-19 c  

o b e i k a n d l . c o m
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λ = h / √2me.eU=6,626.10-34 J / √ 2.9,1.10-31kg.1,6.10-19 .900 = 

>	��� �#	��� 3	)	:   

λ = 0,04 n.m  

 �, 8�S� �#		 ���� �;( &��	Bohr Model  ck�4�� 
� ���� )��$�� C�� 
������� 3	����:  

A � 3������ =)��� 
�  Bohr Model �;,?G �, �	#	� 
��� 8�) ��6$I  
���� !�$	����1�$F� �	< &< �F�.  

B �          8�)�� )	)� &�� ������� �, &��� 
����� ���	   B$< � ��7N   �4��� &
U� &� )���.  

���	 ! ������� H�� Fein Structure�$ �$�	 9�	 Bohr Model =�$� 
� . 

C �     � =)��� 
� @��� �	�	N  %��	# �)�� &� %�$�� �      )	�6 &� 0)�<	 �#	 ��� 

���.  

E���� H�$��� >���,�+ 8�)� 9�	�$ �	#	� &	�"������� �;���-� ����< 
�� @���	 
   �	� 3��	� >	��� 
����+         2���� H�� ����	 3��	��� ��� &� ��, �� @���	 ! @��� + 

1�0  # &<   �$���A� �"������� �� A.Sommerfeld.1951-1868  o?� �#		   3��	�� 
%�	�� ���#�%����� �(�$�	 ��, ��� �+ 34��	��� ��� ���	  Bohr . Sommerfeld 

Atom Model  �� ��N$ 8	�	0%���� B��6 �.  

2 � 5.� ,����� !" %
�'5�+�2� �
�	  �P��<+1�� ��(  

Course of Elect. in Ellipse   

	�$ �	� 9�Bohr Model 
���� <� �;(N   �4, 
�	4#	��� 
���� !�$	����1 &
     �;��	$ 3	� 
�"�� 3�6� �	�� �;,?G+     �"�4������ ��#, Sommerfeld    3�4-	1 &

����        �;��	$ 3	� &�#	���;�� 
�� &	����1 &��	� B�6�  ��� @���   �  !��� 9�	�$
   �;��6��� ��	��� &�#	���;�� 
���+      &��	� �, B��6��� ���	    
�	$�� 3	� !�$	����I�

 ��� B��6��     J�6�� 3	� 
������ ���	��� &��	� +    ��	� ������ ���	��� H��	 $ 4;� 
��$� @��� >�"����� �	;� ���� 1������# 3�6�� Ellipse Course+ �� ���	 < !�F
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91 

    
�"�� �;� �, &��	��� ����.          �;� ���� �, 
�"���� H�� �)- 87$ &��	 �#����1 
 , 3�6��X  F� �� B$   �� �	#	 ��N���� B��&��	    I� 
�"���� �, &�$F� ������#     	4� �4�� +

 �, K/�	3�6�������� :   

  

  

  

   ������ �	����	 ��*7�� �	����+       I� �;��� ���� �, &��� ����� ��;�	 ���  �4#�
  ���� �#	� 3�6���   /��� &������ ��G &+��;   �;$� ���	 3�	 �       
4��� ��4� H�4$� 

 B� �����.   ���$	 >���  F2� 
���  �� &�$&�         �4���A� 
4��� ��4� B���$ 3	A� 
Head Quantum number +�������� ������ 
��� ��� B���$ �$�F��	 Beside 

or near Quantum number.   

     3�� �� �7��$ �$�	Somerfeld      � �;(< 0�� 3	�� !����� &� N  9�	�$�� &
 0����� Bohr Sommerfeld Atom Model<  4����)���	 �4������ B���- !�F �

o b e i k a n d l . c o m



92 

     ��� ��� 3	�$ ��;�	)  ��,���	 �	�� 3��	��� ( � �;(N   &	����I� & 4�   3	4� �	�
     ����� 
�"�� ���� 3�6 0�� 
�	$��+    >�"�� 3�6 ���� 0�� 	<   �4#����1Ellipse 

3�6��+      )� �;� ���� 	< 1���     �;��� ���	 3�6�� �#��#����I�   �	�� B� 3�6�� �&: 
 ������	 ��*7��b.. a;� !�)�< ��������� �&������ &��:   

an = є0 . h
2/ πZe2me  

bn = an . l+1/n = є0 . h
2 / πZe2me . n(l+1) 

>	��� !��?)72� H�� ���: n = 1,2,3 @���	 l = 0,1,2,n-1    

1         ���� &�#	���;�� 
��� �;��6��� ��	��� 9�	�$� ������ !2������ H�� &+  &��	 
  �7���� ������ �,+ <      
��� ���($�� ����� ��� >   %�4��	 >	��� &�#	���;��� :Z=1+ 

�������� &� �����$ ������ H�� �,	: ��� l = n-1� N�	���� & an  �	���� >	���
bn+     � �$� �;(� ������ H��	 N      ��G 2 
�"�� �;��� ��� ���� &+ 	 <    �)- 87$ ���- &

>	���	 E?�- 8	���	 3	��� 
�"����: rn  

.
  

���� �	� �;� ���� >	��� 
�"���� H��	�� Bohr State Course   �4� ��4�	 
'����)� t3�	 H��$� �N    �4, �	4#	� �	4� 9�	�$ &Bohr Sommerfeld Atom 

Model @���	 <&l = n-1. �� ���	 <� �$� !�FN &�� 
� �	� 9�	�$ &1  ��4;(I 2
  &	����I� �-�) ����+       �, @��� �	#	�	 3	��� ���	 )  ��,��� �	� 3��	�(   &4��	

��A� 
���� ���� ��� ��n+ ������� 
�	 <������ 	l +� ���$ N  �4� 0�� 
;�7$ &
�"������� B��6 Sommerfeld������� )��$��� :  

1 � 1   ����A� 
��� ��� & n         3� �, ��������� &	����I� �-�) ���� B� �	7���� 
����  !�  %����� 
��$� �	;���          �4-�)�� �, )��� 5�, =� ����A� 
��� ��� J�$ �+ 


� ��� 3�� &��	 �;���$ �	;� 
�� H�$� �#	� ����< n+ 
�	7��� 
�;(� �������:  
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   � ����)�� &� ���	N     ���� !�$	����I� �	;� &�;�      �4���A� 
4��� ��� J�$  n 
��$�������A� 8?*�� �	6- C�� @���  Head Shell ��"?�� �, H��$ �� ���	 

�������:  

n=1    n=2     n=3     n=4     n=5     n=6      n=7   

Shell      K        L        M        N        O         P          Q     

    � ��"?�� ��� T�$ �$�	N       ���� �����A� 8?*�� 
�� 
�6- &�     
4��� ��4� �;
����A� n  + 0�� >	���n%����� ��	���� ����  &	����I� �-�) ���� =� �.  

1�      �������� 
��� ��� ��<	 l �        �	6��� &� 
��	 3� �, !�$	����I� ���� 3F� 
  � T�$ ��;�	N             C�4$ ���� H�$� R�$ 
���� 
�	$ 3	� B���� ��� &	����1 3� &

>�"�� Rooter Pulse+  �4, �4�� >��� 3F�  Bohr Model   
�� 9�	4�$ �4, 
    ������� �,	 &�#	���;��1   ��� C�$�� ��� &"�     @��� 3����� 
��� �-�) ����� >�  �,

 9�	�$Bohr Sommerfeld Atom Model.   

   � H��$ �� ���	N   &	����I� &�  =�)��<  &�      
���#�� �	;��� H�� ���� 3	� @���
 
������ ..Station Course  >�"��4�� C�4$�� H�$� &	����I� >��� !-	�� �, + 

  ��;�	<             �4�"����� ��4���A� C�$�� 
��- !��� 
�� >	����� 3������� ����� ��h+ 
�6� ]�6�� ��� &�	������� !2������ !�:  

o b e i k a n d l . c o m
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Lcourse = l.h = l.h/2π       l = 0,1,2,3,4.n-1  

�"�� �;��� 5��) ���� &	�� ��� ���� �, &��	�'�, X 8���� &  

l = n-1  

    �	4� 9�	4�$ �4, 5����� 
���� 	< =)���� �, �)�<	 3�	 ��� �� Bohr 

Model�� >�"���� C�$�� �;� ����� ���� ��� � �������� >	��� >�������:  

Lcourse = n.h = (l+1).h  

�,	 2 
��� &�������� &���������;$�� �#	� ��, 5	�, X  �4������� &Lcourse = l.h 
 �������� @���	Lcourse = (l+1).h <�;(��;$N� ��������  &�4�;�F��	  �4�  �4������� 

�������:  

Lcourse = √ l(l+1).h  

  � 3	�$ �$�	N  &I�  ;��-�) !2��	 !�$	����� �    >�"���� C�$�� 
�- ��� ����N+ 
  ><< 0)�� B$ ;��-�    �������� 
��� ��� ���  l   ;� 0)�� ��;�	 �   �� 	< ����< � !��

       �� )	)��� 8�) !����� &� E?�- ���6� �7��4Spectroscope    �4�"?�� H��	 
 !��7 &���	;�2�� 87	�:  

87	��: s.Electron    p.Electron   d.Electron    f.Electron       

�������� 
��� ��� :l = 0               l = 1          l = 2         l = 3  

>�"���� 
��� �;�   : 0.h                 1.h            2.h            3.h   

       !�$	����I� �	;� ��"2 3��� ��$�� ���� ��� ��<	+     54���� B$N� H��$ �� ���	 
   ������� 
��� ����< 
��� nl ���	      E���� !��� ���� !2������ ��� @�+    ��4;� 0)��	 

������� !2������ &� �,	����� �	;��� �	���� ��"2: bn   an    

 �	;��� �"�	� 3��� 3�6 �������� 
��� ��� ����A� 
��� ���  

Circle                                     l=0      n=1 
Ellipse                                    l=0      n=2  
Circle                                      l=1  
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Ellipse Course with lange      l=0      n=3  
Head Axe andNear Axe l=1  
Continue .  

  ����1   A� �	;��� 3� &����     ����A� 
��� ���� ������� 3�6�� ��# n ��$� �   J4�$ 
   ����A� ���"��� �	���� 3	)+ �	         =����� ����A� 
��� ��� �)- 87$ J�$ @��

 
�"���� �;��+          , ��)�� &	�� >�"���� C�$�� �	;� ��� @��� T�$ �$�	 X   ���4� &
�������� 
��� ��� l�*7� + 
�	7�� �, H��$ �� ���	 �������:  

  

   

  

  

  

  

  

  

  

��� !2���� ]�6� ������� ��"?�� !�#	 ��;�	���� 
�	7 �, �� ��"?�������:  

                  

Head Course    Symbol  
  

Configuration  

K shell  1s  l=0  n=1  

 2s l=0 n=2 
L shell    

 2p l=1 n=2 
 3s l=0 n=3 

o b e i k a n d l . c o m
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M shell 3p l=1 n=3 
 3d l=2 n=3 

  Continue..  


��	 @�� 8�* �����:   

 � ���$N   &	����I� &3p �          �4;� 
�4"�� ���4� 04�� @��� 4�     
4��� ��4� B
�A����n=3+ �	 ��  �������� 
��� l=1+ ��	 �        
�64�� =��4� T�$ ��� &	����I� 

 
���� 8?G M+ B$��	� ����� �,	 �   �4;� 54��) 0�� �	�1����  3�64�� �4#+ 
�	�,���      I� 3�6�� ��� �	��� 87$ 
�- ����  �#a..b      �4������ !2��4���� 3����$ 

E?�- !�#	 ����	 �,	�����.  

  

  

  

  

  

  

  

  

  

a3 = є0 .( h
2/πe2me ) . 3

2 = 5,293.10-11 . 9 = 47,637.10-11 m   
b3,1 = a3 . l+1/n = a3 . 2/3 = 31,785.10-11 m   

%�$�F� :   &	����I� ���4f �    >	��� ����A� 
��� ��� B n=4+      
4��� ��4� @���	 
��������  >	���l=3+������� �������� ���	 :   

 b = a . l+1/n @���	 b4,3 = a4   

o b e i k a n d l . c o m
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  � H�$�� ���	N&            9�	4�$ ��� 
�"�� ����� &�� ������ H�� �, &	����I� �;� 
 &�#	���;�� 
��+  , ��;�	 X           �4������� >	��4� ������ H�� �, 
�"���� �)- 87$ &

��	�����	 E?�- �,	����� �������:   

rn = є0 . h
2 / πe2me . 4

2 = 5,293.10-11m.16 = 84,688.10-11m  
       � &� ���	 5�� �� �$�7��� ��1 �$�	       !�4-�) !�#�� �)�� �;$N� �#$ !2���

	6��� �, 
���� &� =�� ��� !�$	����I��.   

1� 
�6���  K      �4-�) �4#�� 3F�� ����  1s   
�64-	 
���� 
���� ���$� &�� 
� H�� 8?*��.  

2� 
�6���  L   ���� 
���� ���$�  ��� 2 �  !�#�� 3F�
������� !�-�)��: 2p..2s.  

3� 
�6���  M       ��4� ���4� 
��4�� ���$� 3   34F�� 
������� !�-�)��: 3d  3p 3s.  

4� 
�6���  N    �� ���� 
���� ���$� �4 !�-�)�� 3F�� 
�������: 4f..4d..4p..4s.  

           !�#	 
���� 8?G �, !�$	����I� !�-�) !�#��� �����2� 5��) &� &��	
5��) &� Bohr Model+  54��) &4� !�#	 @���	 Bohr Sommerfeld 

Atom Model.-�)�� !�#�� &��	  >�"���� C�$�� �	;� ���� �, 
�	#	��� !�
������� �������� �-�)�� H�;� �)�< �����?��� �������� &	$�- ���	:   

En = -1/8 . e4me / є0
2h2 . 1/n2

  

     0�� 3� �� ���	<              ���4� �4;�� �	4� �4����� =� !��	- ��� �������� H�� &
  
�"���� �, &	����I�+   �	���� �;$N� �#	 �  �"����� �"�� .   � =�)��$ ��;�	 N   3	�$ &1 &

 �4���A� 
��� ���� 5���� 
���� 8?G n <  B4� �	74���� >Head Quantum 

number�������� 
��� ���� J��	 .  
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Beside or near Quantum numberl @���	 <   4� ��4������ 
4�� �;(N &
  &	����I��         B��$ !-	�� �, &��	 
���� 
�	$ 3	� �	��  B��$ 3	� �	�+    04�� >< 

H�	�� &��	��� ��� ���$	 Electron Spin.   

3.5  ^��� _�� S'5�+�2� S��',Electron Spin  

    ���	)�� 
�����	 !������� ��� &�+  � �#	 N       8?4G �4, �	#	��� &	����I� &
   B����� 
�����             >	��4� >�4"�� C�$ �;� ���� 0�� 
���� 
�	$ 3	� �	�r2ω+ 
 �/�< @���	�>�"�� C�$� B��$ 0�� �	� Rooter Pulse. ���	 <  &	�4���I� &

�   
#��� 
��*7 
�� B��6+    ��� B$<	 �   	< �	��    >	���� B��6� 
���   H�	�� 0�� �	�
�����+            ������ 0�� 	< &����� 0�� ����� H�	�� 0�� &	����I� &��	� �����	 

���0 Electron Spin+%/�< �#$ �$�	  R�$� &	�6��� &	����I� &��	� ����)� �
    >�"���� B���� &� ��*7 3��  B)��� ���)�$*�+     &	����I�� )��� ����� ��;�	 

  ����)�$*� 
��- H�$� ���)�$*� 3��Magnet Moment = m   
��4- B��64� 
   � ��*7 ���)�$*� ��/-> &��)- +    �� ���	 <     &��	A� !�4���-	 ���#���� !�F

  %/�< @��� &��    � �;( ���#��� ��� �N  >�"���� C�$�� &r2ω     >��4�� )����� �,
�����  
Quantum+       &�� ��� >< ��N� 
� H�$�� ���	 +       �, E?�- B��� �$,��� �� ���	 

       0�� &�#	���;�� 
�� &	����I >�"���� C�$��<      !��� 
�� >	��� 3����� ��� B$
������� ��������� ��� >��� �"����� >�"���� C�$��:   

Lcourse = l.h  

  @���	<  %/�< ���#���� !�F � �N   �j� >�"���� C�$�� &      
4��� B4$N� B��$ &	���
Quantum �;��$ 
���� &��	�� �)��	 Electron Spin������� �������� :  

Lspin = 1/2 . h / 2π = 1/2 . h  

   � H��$ �� �$�	N 8���� & h     &�� 
� ]�6	 5�� ���    ����FPlanck 1   34��� 2
�"����� >�"���� C�$��+  �4�$ 04�� &	����I� &��	� 
� ���	 BElectron Spin 

)�$ 8���� 
�� B�S������ ]?)72� >	����� :  

S = + 1/2  

o b e i k a n d l . c o m
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 �� @���	�;(� ���#��� ��� N   >�"��4�� C�4$�� �4;� ���� &Course of 

Radian Pulse >�"���� C�$�� ���� @���	 re
2ω @���� >��� B��$ &	����j� 

��	��$    
�	4$ 3	� B
�� 
44� 
��44��	 �44$

 %�� &������+�   &4��	 
   
�	7�� �, H��$ �� 

������  ��N   
;4�A� &
Vector C�444$�� 

   	< &���	���� >�"����
  4#	��� J�����	 &��

    =4/	 �4�G �,+  
	�44;(� &��44��	& 

&������� �, B��$ 0�� &	����I� &��	�:   

S =  +1/2   or   S = -1/2  

 3����$ ��� 
�	# &� H��$ �� ���	Electron Spin ����� �, �,���  �4#�� 
 ������� �-�)��Station power steps
���� 8?G �, +� =�)��$ ��;�	 N 3	�$ &

a	#, �$��7< �$� 3��� ����)� 9�	4�$ �$� Bohr Sommerfeld Atom Model 
   7� 0�� ��N$ �$�	�       �	� ���� 
� ���� )��$�� K�< 7� &��;�+ E?F� :    E?�- �$��� ��� 

)���� ��$��� �)�G &�0
�� B� Fein Structure  84�)�� )	)� �, Spectral 

Line  $ �,   &�#	���;�� 
�� 9�	�+  7��� ���	 �      4�� !���FN4�� �	�� �#	��� K�4 
Electron Spin +!�$	����I� 3�� ����$ 0�1 @���	relative masse change 

;��� ��*�� �	�� ����+� 4���G	 ��	��� !��� &� ���� �, @���	 � 34F� Alkali 

Element+ 
������ @��� =�)��$ Electron Spin7� � #	4��� ����� K� � N 
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   8�)�� )	)� &� �����+ E?F� :       
4��� �4,	����� ������ Dublett <  �	74���� > 
Doppler spectral Line.   

� ��7���� 3	�$ �$�	N9�	�$ &Bohr Sommerfeld system   4� =�)���N &
74444�� ����4444�� &	�4444���I� &��	� ��4444� 
�4444����� K+><                          

Spin electron number S = ±1/2 7���  ��4����� ��, @��� 9�	�$�� ��� K�
    ����� !����)�� &	�"�������Experiments    4�� &	����I� &��	�� �  >�    �4, R�4$

��	�$      
��� H�#�� �;���$ ����	 ����)�$*� �-�) B+        �4���� ����4$ ���- @��� H��	 
              >	��4� �4��)��� �4;���- !�4$	��	�$��	 !�4$	�	���� �4$� ��� ������ �����: 

1/2(1/2+1).  

5 �4  `
(��� �+�  

     � =�)��$ �������	 �����)��� ���($�� H��	N       �4�� &	����I� B�6$ ��� �;��6$ &
�- �$���E?3�6�� ��	�� 
��� +��	 �'���� &	�6��� &	����I�  �(-e ) B��� ����)� 

 	$�� 3	��  
�   	< �)��   �;���- ����)�$*� �-�) �� В+ �    �;� >��	��� H�	�� �6��
 �� C�$��  >�"��З+ ��	 �  ��	�� &	����I�  4$  B�        �4����� 3�4*��� 34F� 8�74�

pyrometer    &�$� H�	�� J<� H�#��� 1C�A� 0�+    
�4�	 ��4$�$2� ��4� &�	 
         ���	��� &� ���� C�A� �����# H�#��	 H�	�� &�� R�$� 3�*���+     �4��	��� H�4�	 

    ���)�$*��� 3���� H�#�� &�� 
�	#	��� В      ��4�� C�$�� �;� H�#�� 
;�	   >�"З   	  
   '�< 
������� ���	��� H���  , �;��6 &�� X     
4��� !4#�$< �4��	��� ��4��� ������� H�� &

 ���)�$*���m������� �������� >	����� :  
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m = l cos (В.З)  - l ≤ m ≤ + l 

 =�)��� ���)�$*��� 
���	 <������� ����A� 
�- ��N� &:   

- l , - l + 1 ,      -2 , -1 , 0 , +1 , +2.        + l - 1 , + l 

7� �#��$ &�	�9�	�$ K�Bohr Sommerfeld Atom model    �4� &�4�< 
        �6- �, !�$	����I� !�-�) !2�� 
��� 
�	# &� H�$�#	
     5��) &� 
���� 8?G 

   �4���A� 
4��� ���4�<+ < >The for Quantum number+ 
44;� �	74����            
n, l, s, m.   

  7��� 5�) &�	� �� K�� <�7       &� 9���$	 !2���� &� E?�- 5�6�	 H�$�#	 �� K
  ����A� 
��� 5��)..n  
�	# H�$� + 3�        �	6��� !�-�) 3��$1 �, &��� �#	 @��� 

 �)�1	 �������Y��       �����< 
�6- 3� 0�1 ������� ��������� ����A� +    H��$ 8	� ���	 
������� )��$�� �,:   

1 �� �$�#	 N &	����j� ������ 
��� &��	� &S = Spin� =�)��� N 
�- ��N� &
 &�������S = ± 1/2+ ������� 
���� &� 3�� 5���� ����� ��;�	 ( n, l , m) !�#��� 

&��-���� &��-�) .  
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2�       �������� 
��� ��� =� &��	 l+ &���         
4��� ��� 5��) &� �#	 �� ��� 
 ���)�$*���m <������ �� (2l+1)  �4������ 
����� 5���� ��;�	 ( n , l ) !�#��4�  

;$�	 �-���� 
���� !�-�)�: 2 (2l+1) .  

3 ��������� 
��� ��� @��� �$�	  l ������� 
���� ��N� >��� l = 0,1 ,2, 3..n-1  

       
���#�� �����A� 
��� ����< &� ��� 3�� �)�� Stationer     ��4� 
;��4-�) 
�������� �������:  

            n=1 

NE  =∑ 2( 2l+1)   

             l=0   

       &�� 
� �������� H�;� ������ 3���	1 E,	�7 2� Rank      &� �;���� 3�� 
���� &� 
 87�� 5��)Matrix!��/����� �, +������ ��	#�� 3��� ��;� �)�<	 :   

NE  =  2n2  

           4)���� ��4���A� �	6��� !�-�) !�#���� 
�- �;(� ������� ������� ��"?��	� 

������� ����A��:  

K.shell   L.shell   M.shell     N.shell     O.shell     P.shell    Q.shell 

2            8          18         32             50            72                98   

          
��4�� 8?G �	6- �, !�-�)�� !�#�� 
���� !�;(< !������� H��	+   �4��	 
<             � !�#��4�� 
�4- 3��4$ �4�� �	4#< 
������ ��� K�7     34F� �4������ �����4� :

1s,3s,2p,3s,3p,3d etc.  

������� !�#���� 3���1 !���FN� �$� &��� ���� ������� ��"?�� H�� ��;(1 �,	:   

K shell          L shell          M shell              N  Shell 

2                     4                  18                        32    

o b e i k a n d l . c o m
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1s                 2s  2p        3s  3p  3d       4s 4p 4d  4f 

2                  2     6          2    6  10        2   6  10 14  

       � 5����� 3��� ��� ���$ ��"?�� H�� ����<	N �����$ &�  ;��- ��Y$	 +�  4F�	 � E2
������ 3��� @�� 0��:  

  ��1<    �-�)�� �#�� �$��3d ��� ����    ������� 
����� l=2..n=3+     �4��- �;� 0)����	 
  >	��4��� ���)�$*��� 
���m = 5+  4�� �4��-	 4Spin ��	��4���  S = ±1/2+ 

 ����� &�� 
�	#	����2���;$ 	< 2 +������� 
����:   

- 2 , - 1            0+ 1 , + 2 

���)�$*��� 
��� ����� �;��/	m  �4������ �#��$�� 0�� 37�$ )5 . 2 = 10(  
 
�6��� )��� �, H�#$ �� ���	N shell������� ��"?�� ��� .   

7��	�9�	�$ K� Bohr Sommerfeld <   
�	4#�� &4� ���� 0�� t3�	 �;(
 7�� �#�$����      &�#	���;�� 
�� 8�) �, 9�	�$�� ��� K�+     ��	4��� 84�) @��4�	 

             �4-�	 
�	4# ��	4��� H�� 8�) )	)� !)�< ���� &�#	���;�� 
��� �;��6���. 
7��	�&�$F2� 9�	�$ K� Bohr Sommerfeld system  &��"�4������ @��� ���� 

��	��� 3	�# ��$�� &��"�������	 Period System.  

6� J����
�*�(�$#"�א�� �

6 �1 � \Aa B
@�' ��[��� �:
6� ���  

E���� 8	����� &�� 
������ &	����I� !2�� !����� ��� &� �N 0)���� 
�2� &
  	����1 
�($�	 
�����     4;��,?G �, ��	��� !��� !�$�      ��4���A� �4����� 	4� + < >

Ground state+  
��4�� 8?G �, &	����j� ����/�� �-�)�� T	��� H�$�� ���	 
  �	���� ���� �,.        4� &�#	���;�� 
�� !����� &� @��� 8	���	 N   &	�4���I� &

� � =�)��N  &�       �����A� ������ �-�) T	��� &� =���1   ����� �-�) ���� ���   H�4�	
     
���� R�;� 5��) &� ���� �������+         �4����� &� &	����I� 3���$�� B�;�$ �� ���	 

    �-�)�� ����/ �����A�1    0��< ������ �-�) ���� ��+      �4���� ������� H�� 0���	 
������� !������� ��� &� 37�� H��	 R�;���:   
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104 

1 �               �����4�� !�4$	����I� 34F� �4����� ����4� !����4#� 
���� 8�- 
	    !����# 	< !�$	�	����<  ���α     !����#�� H�� 
��)7��	 �   � �,	����� 
����� 
��!� 

  &�� ��G 
��)7� 5��) &� �������� �-�)��+ � �,	����� 
���� !�$	����1 =���1 ��
0��< T	���.   

2�     � !����6I� 
� ��7��� 5��) &� @���	 !��������� �-�)��	 !������� + 
     ��� ���� ������� H��	��� 8?G &� &	����I� =,�� ��,�� �-�) H�$� 
� V��61 )

     �����A� ������ &� 
����1�0 ������ �-�) ���� + ��������� �-�)�� H��	  4� �;�����
�� &	����I�� =���� >1 ���� 0�<0��.   

3�        , ��	��� �, 
������ 3���1 5��) &� @���	 X      
�4��#�� ��	��� !��� 3� &
 R�;�� ��"����	+ 	����1	       ��	��� H�� !��� 8?G !�$  =����    04��< T	��4� 0�1+ 

             0�1 
���� 8?G �, !�$	����I� �)��� &� !�$	����1 
�� =,� &����� &� @���	
 =���� T	���+    &�N��� �;���$ ������� H��	  Ionization    &�N��� �����	  !�4�� 1 2

    
���� 8?G &� !�$	����1 
�� 	< ���	 &	����1 �����.. ��7��2��	 �, ��� ��� 
&�N��� !����� ���� ������� )��$�� >< �������:  

Push Ionization ..Photo Ionization Terminal Ionization  

  ���� �� ��<   R�;� �-�)�
 &�#	��44�;�� 
�� &	�44���1

���	��+  '���� !�#	    
�- �, �
5��44�. 44'����#1 >	��44�	 �

13,60 eV. 
�� R�;�� &��	 

	��;��  Helium���� �-�) �$

>	��44�24,85eV +
44��	  
��#..      &�N4��� 04$�$� �($�

������:   

  

  

o b e i k a n d l . c o m
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     � 
�?�� !-	��� ���� �� ��<	�    ������ >	��� R�;�10-8sec    	4� >��� !-	��	
3	)<  >	���	 0��� R�;��� !-	 &�meta stabil time ≈ 10-2 sec .  

6 � 2 !�
X�� !��� N)���  Pauli Principe  

$�#	 ������� 
��-A� �, ��	4��� >�	��� 9�	�$�� �, � Period System 4� N &
         @��� 
��� 0�1 
��� &� ������	 0����� ��	��� T	$ !�$�6+      �4, �#$ ����� ��;�	 

 
������� 
����< >neutral Atom+� N      �4�	���� 
��4�� 8?4G �	64- ��4� &
     
��� 0�1 
��� &� ������ !�$	����I�+       �� >�	��� 9�	�$�� @��� H�;(� �� ���	  ��	�

�N      =������� 
��� 0�� 
���� 
��� 3� &  +        8?4G 0�� &	����1 
���� 	< ��$� ����)�
�;���+              &�� 
� ������� 
����� 
�� 8?G 0�� 
���� &	����1 3���1 	< ��$� ������	 

     
���- &	�� 	< 8�7�� 5��) &�+        �7��� &���1 ��$� ���	- 9�	�$ ��� &��	 
��;($ !�$	����I������ )��$��� ����:   

1 �  1           5��	 !�F	 �#	 
���� 8?G �, 
�	#	��� !�$	����I� ��� V	�#� &
    ��� �� ���1          >	��4� 
������� 
���� 8?G �, 
�	#	��� !�$	����I� V	�#� &

 
�	$�� �$�6 ��� 	< ���($�� �����Z 
�	����� 
���� �, .  

2 �            ��	4� 9�	4�$ ��4� 
���� 8?G �, !�$	����I� &�� 
�($� + 	   ��4�
 >	���$�� �"�������W.Pauli (1958 - 1900) 8?G �, !�$	����I� &�� 
($ 


����+B���� 
�($��� ��� ��� ����� ��;�	 + < >Pauli Principe+   &�4� &4��	 
     
��� ��� &� 
($� 
�) 87+   &��	 1�0 �U 2 &      9�	�$ ������ 
�($��� 
���� �#	� 

  ���� ����< ]�6+  u��, &��	  ...  �� 8?G �, 2 
��   �4$	����1 �#	� &  4$F� �  	< &
< �F�� 	< 3����	��>������� ����A� 
��� ����< :   

n , l  , s , m  

        ����A� 
��� !����� ���$� &� E?�- H�$�#	 �� &��	 + <> <    ;$� ���	 3� &�  ���- 
   &����� &�	�,���     8?*�� �, &	����I� �-�) ���� �����	 +   ��	4� H��� �� ���	 

�N  ���� 3� &         4� &4��� 
���� 8?G �, 
�	#	� �-�) N       &4� �$	��4� &	4�� &
&	����I�.  

o b e i k a n d l . c o m
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3 �        
���� 8?G �, !�$	����I� &�� 
�($� <       !�4-�) !�4#�� ��4� ��
!�$	����I�+   ��	��� ��� @���	 +    '����< ���$� 
��� 3�	      B��6� 8?G ��$� J�$ �

           �� >�	��� 9�	�$�� �, 
($ �� ���	 �;��- !�< ���� 
����� 
���  ��	��� =���� ��$+ < >
       �;��� ��� 
���# !�#	 	< !#�$< 
��� 3�     �;��� 8?G �, ���	 &	����1 . ��$��	

    
���� 8?G �, ���# &	����1+ , X      ��< ������� ��;� �#� B$<     �4-�) �4#�� 8�/
  �4��#�� &	����j� &��� 
�	����� ������� 
���� 8?G �, ��-�� 	< 
�	#	� �����+ 

��� B���$ �� ���	
���� 8?G 3��� �"�� 
�	- �, ����A� ��$.  

     ��	4��� 34�� 
���� 8?G �, !�$	����I� &���1 ��$� !����� ��;$1 3�- &��	
   �, 
�	#	�����  ��	��� >�	��� 9�	�$+    �$��� �#� <       C4�� ��4���2� &��� ��N$ &

  !����� 87	� !�(�?���           �4�"?�� �, E?�- !��� ���� 
���� 8?G �	6- ��$�
��� ����  

Configuration              Symbol         Head Shell  

            n=1         l=0       1sK                shell 

   '����)� ����� ��"?�� H��    
���� 8?G �	6- ��$�� �+       ���4� @�4�� �4,���	 
   
���� 
�	$ 3	� !�$	����I�+      !�4$	����1 0�� 8���$ ������ J���� �,	 1 ��4� &


�	$��� �)����� �	6���.  

6 �3� \Aa !" %
�'5�+�2� S
+98  � ���  

        �$��� �� 
���� 8?G �, !�$	����I� &���� 0�� 8���$� 21  <    !��47 =��$ &
!�$	����I� &� �;$��� ��	 �	6���+E?F� :  

1 � 
�6��� �, K shell   

1          ��1 �;,?G �, �#	� ���� 
���	�� 
���� �� &�#	���;�� 
�� &    2 �4��	 &	��
����#�I� �;��	$ 3	� �	�� ��G.  

    
	��;�� 
�� ��<Helium     ���;� ���� �, 1s+    =�)��4� <      �4�N� 	< &��4� &

o b e i k a n d l . c o m



107 

E$	����1� %���	 � %�"�� �   �� &��	� J���$� ���� �, ��G 2 4Spin   ���4;� ���4� �, 
 &� 0$���� >�"����&�$F� &�$	����1.   

  

>	��� ����A� 
��� ����< ���:  

n = 1 , l = 0 , m = 0 , S = +1/2 

>	��� J���$2� @���	:  

n = 1 , l = 0 , m = 0 , S = -1/2 

 2 0��	   ��	� 9�	�$ k��$ +   >< <      4� &��� ��G ���F &	����1 B$N    	< 34��� &
   
�6��� H�� �, &���.  A �����,           04�� �4�#� 
��� �	;� ��� 5,�	� 	< �6��� &

1 2 

4 

3  

5 

6 

7 

8 
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������  
���I� 	< �+ ��;�	   � �#�   � =����� &	����I� 0�N  &�   	< &��Y� 	 ���  �, 0$�
������� 
�6��� 	< ������ 5��)��.  

2 � 
�6- �, L shell   

�� 
��4Lithium ) 3 �$�	 !�$	����1 Z = 3 (     �4��#�� &	�4���I� &4��	
 �� 37�	���  >�     �;� ���� 0�� �	�2s )  
�	7  
-�2  ��"?�� &�( �� �   04�1 =���     

n = 2 
�"�� �#����1 �3�6��+ < >Ellipse.   

�� 
��4Berylium ) 4 �$�	 !�$	����1 Z = 4 (    
�"��4�� �4���� �4�#����1 
3�6��+>< 2s +� =�)��� N  ��4� !�$	����I� ��� 3��� &2    &��	�4�� H�4#�� �4, 

J��$��� .  

     A� !�$	����I� H�;� 
��� ��� &��	  
���Lithium @���	  Berylium ��$�� 
 �4444���A� 
4444��� ���4444�<(n=1,l=0,m=0,S=+1/2)J4444����	     

(n=1,l=0,m=0,S=-1/2).  

    �#� =����� &	����I�	<  &�    �;��� ���� 5��) ��G ��N+     &� 3�Y��� ��N� �$�	 

�"�� ����+ < >�"���� �;��� >2p.  

 �� 
��  4Bor) 5 !�$	����1 (      >�"���� �;��� ���� �$�2p+    A ���4�� ��;�	 &          
l = 1 @���	 m = ( 2 . l + 1) = 3 &���� �-���� &���1 3��6< �F?F ��N�.  

  ><<;$�   �	#�� !��� �?F 
 &���� +   ;$� ���	 3�	 �      &��	� !�4��#�� H�4$� 
���..2><  Spin Direction +;�	�#� ��;�	 � 6 �#� ���� !�$	����1 1;���-� 	< 

;$���1+�     � B$� 3	A� &	����I� &��	 	      � 
�� ��$� ��6��� ���	�� &	����I�  �	4��. 
 
�	7 
-�3.  

 �� 
��  4Coal   
����  )6   !�$	����1  (   �;��� ����	2p+       &	��4� ��4� �4$� 
 ��� !�$	����I��2+   34F� �4������ ��	��� !��� ��<	 N , O , Fluor ) 7 .. 9 

!�$	����1(+        ;� ������� !�$	����I� 0$�� ��	��� H�� !��� @���	 �    �;��� ���� �, 
2p.   

o b e i k a n d l . c o m
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 �� 
��4 Neon) 10 �1 !�$	��� (A��   &	����I� ��
-�.6    �4;��� �, �	#	�  
2p  +       
�6��� �, !-	�� J�$ �, @���	L     
�	7�� �, 
�;(�   
-�5+   
�	74��	 

     
�	7�� �, 
�	#	��� �;��6���
-�.. 5.1+        !�4������ ��4� ������� �, �;$��	 
 ����A� 
��� ���� �������n = 2+ <> Head Quantum State+, X ���� �� B$

I��� �#� =����� &	����N &	�������� 
�6��� ��$� �, ���# �;� ���� 0�� =/.  

3�   
�6��� �,M shell   

 �� 
��  4Natrium ) 11 &	����1 (     �;� ���� �,  +   �4���A� 
��� ���n=3+ 
� 
�"���� &��#����1� �Ellipse 3�6�� 3s.   

 �� 
��  4Magnesium ) 12 &	����1  (#	�	%��    , �$�F�� &����� �,    J�4��$� �

��  ..�� 4Spin�;� ���� 0��  3s.   

 &� ��	��� !���Aluminum to Argon ) 13 18 &	����1  ( 4%�����  ���4� 
 �;���3p+� @���	 &�� < &� !� &��� 
�	#�� &���< �F?F ��N6!�$	����1 .  

  &��	�U    �;��� ���� =������� ��N� & 3d  +%#	��	       ���4� �?���4� 
������ &� �
�;���..3p 
�6��� 3����� &	�� M.   

������:, �-�)�� ���� &��	 X �;��� ���� &4s ������� 
�6��� �, 0$�� N.  

3� 
�6��� �, N shell  

�� !���4Kalium and Calcium ��;��� ���� &��4s   !�4$	����I� =4� 
���..2.  

 &� !�����	Scandium to Zinc  �6��� ��	��� H�;, 10 �  	< 34�� 4� &��
 �;� ����3d � ��      
�6���� R��$� 
� ��� >M+  � �$�	 &�� ��6�    4� !�4$	����1N &

�A &��& l = 2>	��� ��	�#���	 (2.2+1) = 5&�� &���< + 4;$� ���	 3�� � 
$F� &��	� ���#���&+ < >2 Spin Direction .   

�� &�  !�����	 4Gallium to Krypton+ 1  !�4�� ��	��� H�� &6  4� &��
 �;��� ���� 4p+   �;# &� @���	       =����� �;��� ���� 0�� 4d+     !4-	�� J�$� ��N�	 
 �;��� ����5s < ><3� 
��� &Krypton 
�6��� ���;$ !$�� N.   

o b e i k a n d l . c o m
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 ��"?�� �, �#$ ����)�� H�� 0�� �$�	 �������>�	��� 9�	�$�� �, 3���� �� 3�.  
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      � ����)� ���� 3F�� J���� ��� =��$	X�     
�6- &� �$����� !2���� 3� ��)..K 
10�.. M    
�6��� �,K    &	�� ��� l=1        ��4�� �$����� 
���	�� ������ &	�� l   �4� 

��7�� .�������m=0   ��$�� s=±1/2      
�6��� &����� �#	� ����	 K     	4�$�� 04�� 
 ������  

m=0l= 0n =1      s = ± 1/2 

 
�6��� 0�1 3��$$ L ��� n=2 1 &�l=1	< l=1 ���$� l=0 @��4�	 ..m=0 , 
  &��	s=±1/2  ��# 
��	 .   %�	�#� ��� �$�)��	  '��� �    '�#��� !2�� �$��F &� �  0�� �

������ 	�$��:   

&�����s = ± 1/2               m=0                 l=0               n=2    

 s = ± 1/2               m=-1                l=0                                

!2�� !�                              s = ± 1/2               m=-0  

                                        s = ± 1/2              m=+1   

  � 3	�$ �$�	N 
�6��� &L ����� 1    ��4�� �����4�1 &���"�4# &���64- 0� l=0 
����� T��A�	 l=1 .  

     � �	6��� ����)�� J�$ 5�)$ �$�T��A+         !��	��4� )4)�� 04�� 374�$, 
������ 3�6�� �, !�-�)��  �(�?�)'���)�$*� E2�#� C���$%�#��� E?�"/ ��(.  

  10!��	���   
s = ±1/2  l=2, m = -2, -1 ,0 ,+1,+2, 


�6��� M 6!��	���   
s = ± 1/2   l=1 , m = -1, -1 ,0 ,+1,  

  2!��	���   
s = ± 1/2  l=0 , m =  0, 

  6!��	���   
s = ± 1/2  l=1 ,m = -1  ,-1 ,0, +1,  


�6��� L    
  

  2!��	���   
s = ± 1/2 l=0  ,m =0,  


�6���K  2!��	���   
s = ± 1/2 l=0  ,m =0 

o b e i k a n d l . c o m
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             !�4$	����I� !�-�) &< 0�� 
���� �#��$ 0�1 �$���- ���$���� ���� ����)�� H��	
  ����� !����� �,+ 	 <      
� ����< ����N� 8��� ���� 3� &+ 	 <  &    ��74� 
� V��6I�

   ���$� 	<1           �	��4� ��-�) &�� 5���� ��	��� �)-���� &	�	��� �-�) !$�� ��1 2&� 
 &������� &�$F�.        �4����� 3��� �, �;($ �$�	 Schroedinger     04�� 3	74��� 

��-	���� !�-�)��.   

)    &	����I� &< ������   ��� H�#�� 0�� �	� (        &�4� 5��4)��� 54��� �� ���	
 5��)���	 ���($�� 5,�	� 3�6�.  

6. 4��+�� K�
���� �(���  � ����� B
@$� !�
������' !�
  

  Chemistry and Physical consequence of Atom construct  

6 .1.4 ���"�� 5	B��   

      )	4)� 84�) 54��) &4� !���4���2�	 !������� ��� &�Roentgen 

Spectrum+  � &��� N     � 	< ������� 
����� ��*�� �, !�$	����I� &  
�64���� �)����
#������     ��# 	< 
�� 8?G �, �" ��*�� �+    �� ���	 <   � @��� &��	 �;(N   !�4������ &

������       
���� 8?G &� �#����� 
���� �, ���� ��"�+    04�� !��F	 ���� ��������	 
 #����� 
�6�����+      B��6$ 8	� �� ���	 ,  ������ J���� �.     @��� 3	�$	 �	�$ �$�	 

1  ����� ��	��� &� � ��"�  �;��6����    ;���� �6- 8?G �, @��� #����� �    &� ����� J�$ �
!�$	����I�+F�	 �������� ��	��� @�� 0�� 3:   

1 � ��	��� Alkali Element�� 3F�  4Lithium0�1  Francium��$� � �, 
�6- 8?G
#����� 
���� � �K L M N ��G 2 ���	 &	����1 .  

2 � ��	��� earth Alkali Element 4�� 3F� 4Beryllium 04�1  Radium 
��$���6- 8?G �, 
#����� 
���� � �K L M N O  &�$F� &�$	����1.  

3�    3� ��	� Halogen  �� 3F� 4Fluor   0�1 Astatine ��$� �   �6- 8?G �,  

#����� 
����� �.K L M N 7 !�$	����1.  

o b e i k a n d l . c o m
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4�          3F� B��	$< 0�� 
����� ��*��� ���� ��� ��< Helium   0�1 Radon  H�$� 
G �,�6- 8?
#����� 
���� � �K L M 8 !�$	����1+  
�4����� &� 9��� &��	 


	��;�� ��GHelium #����� B��6- 8?G �, H�$� � �&�$F� &�$	����1.  

,X       ���� !���*�� 	< ��	��� 3� &�  ��$� 	< @���   �6��� 0�� !�$	����1 
  ��#����� 
;���$ 
���� 8?G &�� Valence electron�$� �;(� �� ���	   �4#���� �, 3��	 

� 0�	A�N3� 
�($� &Valence electron  �;(� �������� H��	 
���� !����� ��Y�
    ����� )������ 	< @������ ��7���     ;��6 3� ��N$ 8	� ���� �"�� E?7�� .  <  >< &

     ��#�� 3��� �, 
�	#	��� !����� ��$�"!� Molecule ;��#� �     �4��� )������ 
��- 
   ���� 	< )������ �;���$ �"������� @��+         )���4� !����� ����< 0�1 
��� 
����� H��	 

�����:  

1 �!�$	�A� @���� 	< )����  Heteropolar.  

2�   �4#	����� !�4$	����I� 	< !����� @���� 	< )���� Homöopolar or 

covalent.  

3 �&������ !��� @���� 	< )���� .  

4� @���� 	< )���� Van der Waals .  

6 . 2.4'	�!   4	���9� �%��! �� @Heteropolar  

1 � !�$	�A� @���� 	< )����  Heteropolar  

     � !��� 
�� ��<	 ��� ��N      ��N���� !��F 
����� ��*�� 
�� 8?G &+     �4� ��4�	 
 ������ 3�6�� 0�� !�$	����I� 5��$�	 
�($� B� �7��:  

1s2 , 2s2 , 3p2 , 4s2 , 4p6 , 5s2 , 5p6 , 6s2 , 6p6
  

  a � ����     ������� 3�F�A� ��N$ ]�6�� )�:    �� 
��� E?F� ��N$ 4Natrium   5�4$� 
������ 3�6��� �;� ������� !�$	����I� 
���	:  

1s2, 2s2, 2p6 , 3s1
  

o b e i k a n d l . c o m
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  &� ��	;�� 3��$�� 	< �)�� H�;,3s1  electron +    
��4��	 5��4$�� ��N�	 
 ����F�� !�$	����I�Stabile Electron Structure������� : 1s2 , 2s2 , 2p6 ���� 

3� 
����� ��*�� 3���� 	< >	���Neon.  

  �$	����1 ��� &��	& $F� � ����� &&  /�� =�    C���� ��;     �4����� &�4�����<  �4�
	1!�$	����I� ��)�+���*� &
��� ��G 9��$1 !��F1 5����� !�$	����I� 8?G  .  

b�     
�� ��� @���	 Na      
��� @��� 	< ����� Cl , X   1 3���$� ������ B$&	����+ < >
3�Valence electron+ ��� � 
�� 8?G 
�6- @��Na	 �  �4, &	����1 =� R��$

3� 
��� �#����� 8?*�� 
�6-Cl 
�	����� K���� ���6 R�$� Crystal  Net H��	 
����� ��������� ���;($ ��������K���� ���6 �	7 ������� ��"�  

Na              +Cl             →    [Na]+              +         [Cl]-  
  

Na Atom     Cl Atom               Na Ion                      Cl Ion   

1 Electron   7 Electron           8 Electron               8Electron  

Neon veil             Argon veil  

  

      '�"���;� �$	�6� ��G 
����� �;���� ������� H��	�+ ��	      �$	�64� !�4$	�A� &
 ���	� &	$�- ��� ����	Coulomb��$� �������� 
����� :   

F = 1 / 4πє0єr . Q1.Q2 / r
2

  

Q1,Q2 =  !�$	�A� !�$�6  

r  = !�$	�A� &�� �)�	���� �,�����  

o b e i k a n d l . c o m
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є0 =  �"���;��� 3���� ����F  

єr =   �"���;��� 37�	��� ���Dielectric number   

    ��A� �� ��#�� 
	- �$�	          >< !�4$	�A� )���4� 	< @4���� ����� ����� ��� 
hetropolar.  

6 . 3.4 ����5��� 4	���!"�0� �� 4����� �%��!   

 Homöopolar  or Covalent  

2 ��� !����� @���� 4Homöopolar   

   ��#�� &� ��F� �#	� "  !�Molecule  ;�2�� R�$� �      )���� 	< @���� 5��) &� 
 !�$	�A�Ion Binding+;$� � ( H2,O2,Cl2,NH2,H20,CH4 )    �4���� �4$�	 
  )������1�0 �U   ��� ]�6� 
� &+  ���G &��	 �  ��#�� &� " ��$ !�!  � ��������  4� K�7

!�$	����I� !�F� 
��� ��G 3�6�+    3�4��$� 54��) &4� J�� &��	 Valence 

electron      T��< 0�1 ����6 
�� 8?G &� +       !�4$	����1 9��$1 5��) &� &��	 
  ��� &� �#	���&� � ���6�&�  �4%�� .          )���4��� �4���� ]	4/	� �4;(� �4$�	  
Homöopolar   9���$��  &����    ��# 9��$I J$#�� J�$ &�"�+    �)�$ ������� H�;�	 

F�A���������� :  

a ���# ��$�  "  &�#	���;�� !��� &� &�#	��� �H. + H.→  H : HH  + 
 H→ H―H → H2   

 

b � ��# ��$�"�	���� !��� &� �	�� �  

Cl + Cl →Cl Cl …Cl  +  Cl  → Cl―Cl→ Cl2  

c ���# ��$�  " &�#���A� !��� &� &�#���< �  

O  +  O  →O O …O  +O→ O ═ O → O2  

  � T�$ �$�N �# &"�  �#	 &�#	���;�� !�"�    �	4���� !� �4;����    4%�� ����64� � 
  9	��� ���	 &	����X�+  ��# &��	 "   &�#��	A� !��;����    $	�4���1 =� ����6� &� 

o b e i k a n d l . c o m



117 

 #	��� &�$F�&�. 	        ;$� 
���	 3� ����6��� !�$	����I� H�� !$�� ��1�   �7�� � 
��

���	+, X 
��$� ����)�� H�� 0�� 
;���# &Configuration of noble gas < >


����� ��*�� !�F� ��  .  

  @���	1    )������ ����� &Homöopolar        	< @��6� �, @��� 3����� 	< 3��� 
� &� 3��6< 	< 8�$7< 
��� �)���� 9���$�!����+��# ��$� 3F� "���G	 ����� ��.  

j,        �4���� �4)�$ �#	����� !�$	����I� )���� ����� ��;(  )―(    )���4��
  @��6� ���	 &	����1+      ���4��� �����4�	   )═(      $	�4���1 @���462&�   &�4$F� 

#	���&�.  

     ����� 5��) &� )������ !����� &�	 Homöopolal &<      )���4� 
��4- �$� 
  ��6��� 5	, !������+     ����� )���� J��� hetropolar    �� ���	 <  '��($ @��� �;( �

�N)���� ����� ���� B$Homöopolar  <	 )6$<��-+� 3� �� ���	 N   H�4� &4� &
    ��#�� @���� 	< )����� �������"     �	��� �;$� R�$� !�Crystallization    ���46 	< 

        K4���� 3��4��� 3F� 
�	��� !��"�#NaCl+         �4���� )���4� J4��� &4��	 
heteropolar+         4,  )������ 	< ��$��� ��� �, �$�	 X   ��#�� ���46 & 4"   ����4/ !�

3��� ��� ���$�	 ����� �;���.  

3 � ��$����� ��	��� )����   

    ������� !������� ���$� ��$����� ��	���      �"�4��;��� ��4���� 3�47	�+   @��4�	 

������+  ��$� @���	 � <       � ��	�7� &������ &	�� ��� J���$� 
��- ������#+  
��-	 

        �	�� !��7�� H��	 &������ ��G =� )����1       ���� �� ���	 &������ !��� ��$� 0�
    &�4���� 
�� 8?*� �7��+ <  ><            �4�"������� �4;��- ��4� &�4�� 
�� 34� &

Valuation+ <   � &	����1 
� >&�� <     ���� 
< ���	 Z�;$� �)6$� &Z   �4������ H��	 
       @���� ���� ��*�� !����# !����� B��6�  !����� 8�G &��+     ��G B���$ �� ���	 

!�$	����I� Electron gas + !�$	����I� B���$ 
���� !�$	����I� @��� &��	 
 
�6���� 	< 
�"����Guide Electron+��$� 2	�	 �  �4�-���� ����#�I� !�$	�A� 0�1 

���  �����    ��	�	� !�	- 
��- =,�  Coulomb  �������� !�$	�S� .   ������� H��	 

o b e i k a n d l . c o m
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������ ������� �, �#	����� !�$	����I� �6���	 B��6� Homöopolar+    �4� 	< 
�� 3���4 CovalentT��< 
��	 
�� &�� @������ 	< )������ B���$ �� ���	 .  

4 � @���� 	< )���� Van der Waals  

��� )������ ��� ����) !   >�4$�	;�� �"�4������ 
�� 0�� Van der Waals 

(1923-1837).  

���	    	� )������ <      ��# &�� 8	��� @���� 	< )���� 8�/"  !��� 	< !�.  ���	 
      ="�� 3"�� B#	 0�� ���� ���� )������+        K)� 0�� �	��� ��6G 	< ��#� 3����	 

 ��"�� 
���+      ��# &�� &N� ���� �� ���	 "      �;/4�� =� �)������� ��������� ����� !� 
C���� 86����� 
��- �;���$ )���� 
��- Van der Waals   H�4� @��4� �#$	  

        3� �4;� �	7���� 
�	������ ��	��� C�� �, 
�����Crystallization    ��4*�� �4, 

����� .           �4�"����, J4�< 
�� 0�1 �	�� �;$N� 3	�$ 
����� H�� �,����	+   ���4�<	

  � ������ ��)$���N ��#�� &"    �;/�� ��������� !�� )���� C���     ��4� 
�4;(���	 �
 ��$� ��6*���  �"���;� �)��    B���$ Dipole+  %;#�	� @��� � %����� �     &4����� &4� 
 ��	�� ��GAnti parallel� 3	�$	 �	�$, N   @4������ 
��4- &Van der Waals 

     ��)-A� H�#�� 0�1 �	��Dipole .          3	4����	 !���4���2� �4�� &� �;( @���	
 � ���($��N     �	 ���� 
� 
����� H�� &	  �#1       ���$������ 
��� ������ 3� 5��) &� 2

Mechanic Quantum.  

6� 4.4� �+&� !�.� Roentgen Ray   

1  � ��6< &#�$       � �$���A� �"������� &� !�6��� ���� ��$���� &�$   �$� &#1895 
%�	� !���'�;� �����)���	 >�($�� 
���� �����, 
�� �, �+ ��6A� H�� 9��$1 ����)	 

3F� �������� �-�)�� !�� !�$	����j� ]����� 0�1 �	��10 000 eV N� 74� &) 
�
          �"	4/	�;��� �FS� ������� ������� �� H�� 
��)72� �����	 ��$��� ����7�+ 

   �;��� ��6A� R�$� ���	$*��    %��� &��� 0�� �)-���� ����)   !�4$	����I� &� �+ 
     R�$�� &������ !�$	����I� H�� 
)��� �$�	  �;� ��6<	$*��   !2��4�� ��� ����)

3�	���� Maxwell .  ><< �� B$       %#�	�< =6� �")���� 	< ������� !�$�6�� &	�� �� 
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�;�	$*��           74� !�4$	����I� 
�)74� ���$� ���� H��	 ��Y� 3�6� ���)��� �
  ��$���  �;$X,)��v ;���� �    ;� &����� 8���1 ���� �.      !�4#	� ���($ ]�6� ����	 

   �;��� ��6A� ����$�� �	/��	$*������)+	 �    ��46A� �4F��$��� ��46A� H�� 0��
��� >< �44���Break 

Ray  .  ����)�� H�;�	
  &444���  9�444�$1

 !�� !�4444$	����I�
 ������� �-�)��:  

  

  

  

  

            ��	;�� &� i��� �	�$< �, 
���6 &� 
�� 3�6� ���	A� !�$	����I� R�$� �$�+ 
     ���"/ ��"����� ����� �-�)� H�� 5�)$�	 .        54��) &4� !�$	����I� H�� V���	

   &	���� 5�,V���� ����� �-�) 0�1  ��eV+ �$�6�� &	�� >��� !-	�� �, e- �� 
&	����j�  ������� �$�6�� ���)��� ������+��$����� ����7��� 
�)7� &< 3�- ���	  .  

1       � 
������ ������� �-�)�� H�� &eV   &	���� 5�, >	���  ..V  4�� �   =4-	 >
 %���< &	����I��B�  .	1< ��� ����7�� &��� �, !�$	����I� H�� K��� ��� B$  ��46

�;�		)< =� =��	 8�) 3�6 0�� ����)$*��
���� !�#	� 3.  

    �;��� 9�	�A� H�� �	7�$ �$�	$*��       !�4$	�	, &� ���Y� �;$N� ����)Photon 
 >	��� �;��-�)hν =  hc / λ+   ��4��� &�4����� &	����I� 
�)7� ���$� @��	 

      0�1 �	�� ����� �-�) R�$�	
#�����     �)��� �$�	 &����� 3��� R��$��    &	����1 3� =
        ������� B�-�) &� ��# >< ���� &<1   %��� &	�	, 
�	7 0�  37���� 
��)7?� �+ 

o b e i k a n d l . c o m
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     B����� &	����I� @��� �$�	�       &	����I� ��� 06?�� ����)�$*� �-�) R�$ 4� 37
�	�;�� ���� 0�1.  

    3�� 3� 0��1  T����� �-�)�� &         34��� >	��4� 5�)$� 	<���� &< &��� ���� 
�j� ������� �-�)�� &	���eV   �4������ 	< ���4��� &	$�- 3���� ���� ν = eV / h+ 

 �#	��� 3	) @���	λ = hc / eV ��������	 1 ��4$� &�� 
� �F��$��� !�#	��� &� 
    &��	 8	��� �����            3	4) 8�$47< 3� B� �	#	� =����� 8�) 3�6 0�� �;(

!�#	���.   

  

  

  

  

  ���	� �� 
)���  	 &	����I� �     &����� �, ���;$��� K���     &	4��� �4� �- &	� U 
>	��� ���� ������� �-�)�� 0)�<Ek = e0U = hνg+  ���4�N� ���6$ &����� &�	 

�� 8����� 
���� ���< >g = limit������� !��?)72� 3F� :   

νg = e0U / hλg = c / νg  = c.h / e0U  Ng = e0U / c.h  

 = h@$�� ����F .  

= e0&	����I� �$�6 .  

= U3� 
��	� &	���� V&	����I� V����� .  

o b e i k a n d l . c o m
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Ek =&	����j� ������� �-�)��.  

= Ci����� �, �	/�� ���� .  

      -�)�� V	�#� &< 0�� 3�� �� ���	!�  !4�	�� ���� R�;���� &	����j� ������� 
� ��6< 	< �$���� V��6I� �-�) !)�<	�$ &#Roengten Ray+ >��� !-	�� �, 

   � V��61 
� ��N��$ %��- &#�   	����I� �-�) &�     &�4���� 0�� �)-���� !�$+   &4��	 
  � V��61 !������$  &#<   
������ !������� &� �*7+      K�4��� !����61 ����� ��;�	 

     
� ����7�� &��� �,� ����� &��   �)-���� !�$	����I� �-�)�  .    �4)�$ 
;���� �$�	
F��J���� &� 3� 3:   

 >	��� ����6��	 &����� ����7 &�� �	#	��� &	���� ��	� &�� ��1 10 000 
eV, X������� �������� >	��� &	����I� �, 
�	#	��� ������� �-�)�� &:   

Ek = e0U  =  1,6.10-19Asec . 1.104 eV=  1,6.10-15Wsec  

 , @���	 X              K�4� �4��� �4, �4#�$��� ������� �-�)�� 
��7��� �#	��� 3	) &
0$�$���	 �������� ��� >	��� !�$	����I�:  

  

λ = h.c / eV  =  3.1010 . 6,626.10-27 / 1,6.10-15 = 12,4.10-9cm  

o b e i k a n d l . c o m
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� �+&� 4�5���!�  .�  

1          ��� 0�(��� 	< T����� �-�)�� 3����� V������� &	����I� &� &������ 
�)7+ 
 &����� ��� ��	� 	< ����7 B���$ ���	Anti chatted    ��4�� �4������ H�4;�	 

&����� ��� 
�� 8?G 
�6- &� &	����I�.  

  !-	�� ��� �,	 %���	         EG��, ������� &	����I� &��� 0��� ������� H�� �#��$� ��. 
 E?F� ��N$�:      
�6��� �, !F�� ������� K+       
�6��� �, @	����� i����� ���	 K  B��N� 

   
�6- ��G &� &	����I�+     
�6- &� E?F� L+ S���         
�� >��� !-	�� �,  i����� ��� 
 &������1 �	��� 9����� &� &	����I� �;�7�����A� �;���� 0�.  

���)	� 
�6��� �, ������� H�� K8�) )	)� ��;(1 �;����  ��$&#Spectral 

Line.  

 B���$ )	)��� 8�)� 87�� ���	K Seri+  3	4)	 ������ �, 3���� �� ���	 
              
�� 84�) )	4)� �4, !��4�	 ���$���	 5�� ���� !��?)72� !�#	���

&�#	���;��.  

      ��� ]�6 )���� ������� �$�	 3	�$ J����:   �$4/��,� ��1  &<   !�4$	����1 34�
 5�� 
�	 !���< �	6���1 
�6- �, ���	 &	����1 2K�� � 
��� n = 1 �$�6 ����� 

     >	��� 
�	$��� ������ ����#�1e0Z+          ��4# �-�) �)�$�� H�� �, 3��� ����� ��;�	 
������� �������� >	���  

P = 1 / 4πe0 . e
2 / r2

  

��	�	� �-�) >	��� H��	 ��	����� Z.e0
2 / r2  �?)472� =/4$ 3���	 �� 

Z2Ry     ���� 	< ����� &��� �,  Rydberg    T�$ �$�	 <     8?4*� �������� �$�6�� &
  %����� K�7� 
����   
�)*� 	< ����� �+     ������� ��� @���	 Z  � �#� N    B4$� ]�)� &

�	����� ���	 ������� ����� K Seri 
�6- 0�1 3���$2� ����� L +   04)�� ��4;�	 
3� ������ ������ν 
�6- 87� k������� ��������� &�#	� ��6A �7���� :   

ν = (Z - 1)2Ry(1/12 - 1/n2)n =1, 2, 3.  

 �	6��� 8	�7 )	)� R�$� ������� ����)�� H�� J�$ 0��	 K , L.  
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� T�$ �$�	N 
�6- 87 &K Seri  V��6I� R�$� ���� 
��7��� !�#	��� �)�� 
   � ��6A ����� �$�����$         ��� 8	�74�� )	4)�� �4��;($ ������� H��	 &#�  �4��

 87 )� 3F� ������� 8��A��K Seri  

Kα1 , Kα2 , … Kβ1 , Kβ2  

 ��� �$��   8����� 3�α���	)�� !�#	��� 8�)�� )	)� �7�� +  �4���$ 	< ��N$�	 
E?F�            ��	��� 
���� ���($�� ������ 5������ 8�)�� )	)� &� )� ����� 	< ���� +  >< 

Anode+�� E���� !��� ���� �������� ���� � �ν+ ������ >	��� @��� �;$N� T�$, 
 �#	��� �����N >�4���$I� �"������� &	$�- ��� >	����� H.Mosely (1887-

1915)3"����  �N 3��� B$N� �#	��� ����� ��# &Linear Function���� �)�� � 
 ���($��Z������� �������� ���� =���� B$< 	< ν  34����  Linear   ��4��� �)�4�
 ���($��Z.   

1    ��#	���� ����A� &N )���� �   � )	)� 8�)� 
�$&#+     9�	�$ &	$�- J�$ ���$� 
Bohr .. �#	��� ����� ������ �)�$ �$�	 N 
�6- )	)��Kα 4%�	#� 
�����  �

 &� V��6I� ������n=2  0�1 n=1��	����� ��������� :   

Nka = Ry(Z-1)2.(1/12-1/n2)  

� �)�$ @���	�#	��� ����� ����� N  
�6- )	)��La%�	#� 
�����  ������ �
 &� V��6I�n=30�1  n=2 ������� ���������:   

)2NLa =  Ry(Z - 7)2.(1/22-1/3  

  >����$I� �"������� �$� Moseley          84�) )	4)� 54��) &� B$	$��� �7- 
 >�	�4�� 9�	�$�� �, ��	��� ���($�� ����A� 5��$�� �)� �	#	 &�#	�Period 

System;��� ��� � ���)��� Relative Atom mass.  

o b e i k a n d l . c o m
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���א%���!�א�!C�%�א����&�������7�� �

1.7 F S'5�+�2�� �&�  

         !����46I� &�� 
�������	 C-�$��� E?�- ���	 ]�6 �� �7��$�+     �4� 34� 
  !����# 	< !�#	�  Z            
;$4� 3�4�� �4� 3�	 �	#	� 	� �� ��7���� =�#$ �$�	 

Corpuscle   � �7�$��� 3F�������  )!�$	����I�+  !�4$	�	�� + !��� +  !�4$	�	, + 
 !�$	�<1P�(.  

       !������2� ��� &� �;( !����6I� H��	   &<��$�� ���$� +     K�74� 
� &��	 
;�7	� 1     
;��� ]�6� �#	� 9�	�$ 
������ 2.    ;�����4�� &����� &�	 �  ��	4� . 

  � &��� @���	N   2 
�����	 �	/�� & � &�� � N  ;�� ��	��� &�   4� ������  �) & 4� 5
  !�#	���1    �� 9�	�$ 5�) &� 2  4Corpuscle        ��4� 3� 
;$� ���	 3�� &��	 

B#�	�$+             B���4$ >��� C-�$��� 	< ������� &� E?�- ��� �� ���	 Dualism   &�4� 
��	 !�#	���4Corpuscle  B4��	 B��� �� 5��) &�	 De Broglie  @�4��� 

 
��*7�� 
��#A� �, !�#	��� 3	)<'�"����, B���$ �� > 4�� � 4micros optic 

Elements � N       F�	 J�����	 &�	�� T	��� !�� 
�	#	� H�� &�     34��� @�� 0�� E2
������:   

 ��1<%��# �$���E��)$� � 4E����� �  ����4� V = 1cm / sec+  >	��4� B4����       :
m = 1gr.  

,X ��� B�#	� 3	) &De Broglie������� �������� ��� >	��� :   

λ = h / me.V = 6,626.10-34 J.sec / 10-31Kg.1m.sec-1= 7.10-29m  

        ������ ��7� ���� ��*7�� 
�#�� ��;� �#	��� 3	) ���	+�    �� ��� <  �4;(
3�	 �#	��� &�� 5����Corpuscle3� !����� &� 	� 3��� ���	 Microphysics 

�              �	4�$ �$�	 5�2 =)�� 	< 
�- �, H��� 0�� ��N$ 8	� >��1    &	�4���I� 04�
�#	��.  

o b e i k a n d l . c o m
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 �� ���	 ��� H�$�#	De Broglie+� N �7�� �#	� B� @���� &	����1 3� &
 �#	� 	< &	����I� �#	� �;���$	 De Borglie.  

� �$��� &	����j� 5����� J���� �,	N   ���4�� 
��4- =4���� &Amplitude 

Square  �	/�� �#	���  �	/4�� ��4�� 
��-  !-		 &��� 3� �, >	��Light 

Intensity  + ���?)72� >< ψ �	    (��� H�Psi       �	/4�� �#	� 5��) &� @���	 
 ��#�	��� �#	�	 �&��   8���$� ��;(1 &�$F2� &�� 3������ 5��) &� +   �4� ��4�	 
 Z3�Y�� B� 0$��  

   ���4�� 
��4- =���� ����� �, 3�Amplitude Square   �4#	� �4, De 

BroglieZ��"����, ���($ @��� �#	�    

 >	���$�� �"������� ��# �$�E.Schroedinger (1961-1887)  4� �4�,	 N &
  %����� B��6 &	����I�     ��# &� �)�$ ���$� 
�� ���+ 	 <      ��4#	� 
� �;�$�6	 �;���� &

        )�� &�$�	- ��� &��	 !��F 5�/ ���� &��� �,� ��#	� 
&     =4��	 &�4�� �, + 
���	� �-���� �$��< �, &��	+    �4#	� �4, �4��	#	 ��Y< &�$�	��� H��	  De 

Broglie  � 	�	N%��- &�� &�  �#� �$�6��	 �����<�� &����� �, �#	� &� �#	� >
    ����� 
��- B�Amplitude+          34� �, &	�#	� 
;$N� �#$��6 ����� ��� ���	 
   &��	 &���A�  J��  8	��� &��� �,+ ���  !$��   ����� 
��-  Amplitude   >	���  

%��7�           >	��4�$�� �"������� 
����� ��	#�� &�� ���	 Schroedinger   3�Y�4�� 
	�)���].  

 �$� �, &��	1926 �"������� ��# M.Born (1970 - 1883)� B�	�� N 3� &
!�$	����I� @��� !����#��+@��� 
;�/	 +�)�$ 3�6 
��)�<	 + ����� &� 3�-	 

 ����� 
��- =����<> Square Amplitude=ψ+    �4;�;, ��	4� �4���� �;$N� 
�#� ������� 3�� 	< ����� �;�7		��� ��+���� ���- @���	  &�� 
� ����� 
��- =

1   &����� 3����2� ���- 2+ >< Possibility+     &�����	 !-	�� �, �	#	�� >< .   ��4�	 
   ���� 3����2��1 �#	 �! �# �   8	��� !-	 �, ��+      B�#� ��� &��� �, @���	 
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 >	���ΔV ..  =������ 
�	����� ����� 
��- >	��� ><Square Amp 
�	#	��� 
 
#��� �,ΔV.  

  ��� ]�6�� ���	               �	/4�� !�4$	�	, &�4� ���4���� J�� �4, E?�- ��� �� 3F
 !�$	����I�	  

      B��- �� 0�1 �	�$ &��	Born       3�64�� ��	�� �)�$ B$N� &	����I� &� +   ���4�	 
  �����1  �� �� 5����   3������� ���6 &	����I� Z   3� � �� �#�     3	4� H���� ���� 

        9�	4�$ 	< ���($ ��� 3������� 
��Bohr   2 �4$��	 Z �  �4��$    ��4;� 54����
V	/	���+ �"������� H��� ��� ����$	 Heisenberg ����$��� �-?��� 	< 37�	���� 

  ��G�� �	($���	 ���               �"�4������ =4#����� &4� �4�F� �4, H�4#$ ]�6�� ���	
Heisenberger          �"�4������ B� ��, �� )���� ���$ �$�	 Heisenberg   �4������ 

 ��G ����$���� 
���� Δx.Δp ≥ h/2π +��	 C���$ H�� 
;�<  
�4($��� !��F���1 &
x,y �#� �   �� 
�	#	� �� ��0   �	���� x   +    3� �	/ 	< &	����I� 3F�Corpuscle 

   &	�	�� 	<1P�    ��G 
����,��    ������ >	��� ��Y�Δx     �$�� �� ���	  �1 B$<  �� 8��$
 �	���� &� &	����I� X     �46�6 04�� �)-�4� !�4$	����1 3F�� �	7���� E?F�

&	�������+ 	       >	��� ����#�� H�� �/�$ @���p    ��G 
����	 ��      �4�� �4;$� �4�Y�
     >	��� 8�/� 	< 8��$�Δp        
��*74�� )?4GA�	 !�,���$2� H��	 $   �4��;(

������� ���������:   

Δx.Δp ≥ h/2π  

   @�� 0�� 3F��� =���$�+  � C���$	 N �� &�      �	#	� &�#	���;�� 
�� &� &	����I� 
     
���� 8?G �, ���� &��� �,+ , X&       >	��4� &	�4���I� &���� ]	����� �������  

1/10 
���� �)- &� :  

Δx = 0,1.10-10m = 10-11m  

  ���	Heisenberg    ��G ����$�� ��
���� B$X, +       !�/4�$�� �4���� 
�� =���� 
������� �������� ��� 0)��:  

Δx.Δp ≥ h/2π  or   Δp ≥ h/2π.Δx 
Δp ≥ 6,626.10-34Jsec / 2π.10-11m  ≥ 10-23Nsec 

o b e i k a n d l . c o m
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	 ������� ��������� 0)�� ������ ����� 
��  

Δv ≥ Δp / me  ≥ 10-23Nsec / 9.1.10-31kg ≥ 107msec-1  

��ر��  �
��ذج        �� ���� �* v�  ��*�n=1  �( �) ا'�&%��ون  إذا آ��ن  ،Bohrوه�� إذا أ

& ����5 ��& �������& ��(� �$;, N  �4$	��v ≈ 2.106m/sec+� �$�#���� ��*�و)�  
���� ���$� 
�� ���- ��	����� ���500%.  

	 3u� �� ���	<����	 3���� �;(�� ������ �N�� &
 ����$ ����� Heisenberg 

 &�� 
� < ����F &� �*7Planck�,	����� .  

�#�� !����� =���$� �	�$	� ��� ��De Broglie � E?F4� ��N$�	  04�  H�4� 
!�������:   

C���$� &<    &	����I� � %���� @��� %���1	 �      ����4�� J�$4� �V     3	4) 04�� 
�	����X       >	��� &�)"���� &�� �,�����	 &����	�� &�)"�� &�� a     �4#� �$�	 < &

�� 3� �#$� �#	� �De Broglie 
�	7�� ������� �������:  
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 T�$ �$�< ������ &De Broglie ��G ����F�� 	< 
���#�� �#	��� �� &�� ������
&�)"����    �;���$ ����Elongation+  � ���$�      �,	����� ����6I� ��$��� 
���< >

  8����� B���$ �� Interference   &�������� &��#	� &�� + !�������	  � ;�   
��4- 
�����+ <>Amplitude   +    8���� >	��� ����A  �#	��� 3	)	 λ    ���4��� @���	 

ν، ;���F�����#� 	< �)�� 0������� ��������� :  

ψ = 2Acos .  2πx / λ . sin2πνt  

�	H� �#	���   ����� ��G !�   !-	��� t  + ����� &��	�    ���4�� 
��4�� A   �4������� 
 &������X������� �������� ��� :   

ψ(x) = 2Acos . 2πx / λ  

 H��$ �� ���	!$�� ��1 x = 0 	<  x = a, X ����� 
��- & Amplitude ( A ) 

%��7 @��� �;���- K�7��.  

ψ(x) = 0  ψ(a) = 0  

     � 
���#�� �#	��� B���$ �� ���	          &�4� �4���� ���4� ���� &�� 
�	#	��� ����F�
������� !�������	 !��7	7��� �#	��� H�� @���	 &�)"����:   

a = n.λn / 2   or   λn = 2a / n..   n = 1 , 2 , 3  

           ��G 
���#�� �#	��� H�� �, B$< 0�� 3�� �� ���	  ����  ������   &� ����<	)� 3
   ��G !�#	������,	���+ <  >λn+   ����	 �$���       
��- 
����� �������� �#	��� H�� 0�1 

 �����A������� �������� ��� :  

ψn(x) = 2Acos . πn / a . x  

       &����	���� &�)"���� &�� &	����I� !����� �$�!��� 1    C��$� 3���� ����� 2
<��J���$2� >� One Dimension Reflection Oscillator+   34����� �4$�	 

ψn(x) J�� 1 ����� 2Function �7���� C��$�� .  
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�4�Y� �4-�) �#	� 3	) 3�� �	#	� 
;� ���� =���� 0�� 37�$ H�� &�	
�;� �7��+������� ��������� �,	����� &	����I� @��� �-�) ��N$ �$�	 :   

E = 1/2meV
2

  

 ������ ���	De Borglie >	��� ���� &	����I� ���� 0�� @��� 37�$ 
������� ��������:  

V = h/meλ  

     ��G �#	��� 3	)� ���?)72� 3��$1 
����� ������	��   �4#	��� �4, �,	���
E���� ��� �� ��� 
���#�� ��	����� �λn = 2a/n������� !2������ �, +  374�$ 

 ��G !2���� �-�)�� ������ 0���� �,	���n������� ��������� :   

En = h2 / 2meλ2 = h2 / 8mea
2 . n2  

   7 �	#	�	 
������ @���	&	����I� �#	� 
�	+  ����4#� 
�	7 @��� �$�#	 
  � ��"���� &	����I�N  �� &	����I� &�  >�    &����	4���� &�)"���� &�� @���+ 	  J�$4� 

������  2 ����  ��*�� +   =�)��� <        �4����� �7�� 
��Y� �-�)� !�����$2� ��N� &
  &�)"�� &�� �,������+      ����A� 3� =���� �-�)�� H�� >	���	 +     H�4� ���-	   �4-�)��

 �;���$Power of Reflection Oscillator =��� �������� !������� H�� 3� ���	 
    ��< ���6< &	����I� �#	� 
�	7�+T <  ><     
���# �#	� 3�� ���- �#	� B$+  @���	 

  &	����j� �7�� �-�)+            &�)"�4��� &�4� �4�Y� �	#	� &��� �, 3������ &�	 
 C��$�� &���Y���. ��	 �    �$���� &	����I�     )�� �7�� ��$�F �-�) H�$��   �4�������� 


�������:   

En = 4h2 / 8mea
2  = 1/2  h2 / mea

2
  

         ���� B� �#	� B$N� �$�<� &	����I� !������ !�������	 3	���� ���	�   &4� &
!�-�)��+           &����� �, �	#	� 3������ &� B$N� ���� �� ���	 �1  �   !4$��#	��� 4��& 

2�$F�� &����	& �n	�$��� &)���+< E���� 
�;(��� 
�	7�� �($� &��� ��G �, 	�.   
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�����?��� �������� �;�7� ������ H��	+ 	)��0 3��� �;�  Function   54���� 
   
4���  
4�� &��	 &�����	 &������Quantum Physic    
4���� J4��� �4)�� 
    �#�� �-�) &� !��	��� ����?���� 	 ��1�;���-+    � =�)��$ ����� ���	 N   &� 3	�$ &

���I�            ;/4�� =� �;�$�6	 �;�-�)� �	��� >	�� �;��6 �)�$ &� 8�Y� B$N� &	�� 
C����+ &��	 1�0 �U2 &� &�� &��� ����� 1��7�� ����� >��� 3������ �;���-.    

��$������ 3��� 5��) &� @���	� >���� 
���� 3�#� �, ����?��� < @��� K�7
   &��� ��G1        �4������ ���� ��� ��� ����� ��)���	�   !�4#Schroedinger 
����$������+   ����	 2 � �� &���     I ������� 3��� 5��) &� �;�    &4� ��	#< ��)�
,���	 �;��-"�;.  

2.7 %
&���� �����  Wave Function   

        ������� 3	7��� �, R"��$ &� H�$�<� �� ��� &�+       !�4���� 9�	4�$ R��4$��	 
  
�	$�� 3	� &	����I�+        &�4� &	����I� !����� &� @���	     &����	4�� &�)"�4�

 �#	��De Broglie  
���� 
�	$ 3	� 
�"���� !�$	����I� H�� 3� 3�Y��� ��N� �$� 
���� !�#	� @��� R�$� �;������ Z@����� ��;�   

          �� &��	� 	< 
�� &� B��� �$,��� �� 0�1 �	�$ �$��   3	� 
�"�� 3�6� &	����I� 
     >	��� ���)- 87$ 
�	$rn+    �� &��	� ������ @���	 �      	< 9	4�� R�$� &	����I� 

���� &	�� !�#	��8	��� ��G  n >	��� �#	� 3	)� λ������� �������� ��� :   

2πrn = n.λ  

         !�4#	��� H�� 0�� �#� !2���� 3� �,	<  &	4�� & �  4;�  ��4�   � �4�$��� 
Interference 2���;�+� &	����I� ������ 0�� �$��$< ��1 �$�	 De Borglie  
�- 

37�$ !�#	��� 3	)������� �������� 0�� :   

2πrn =  n . h / meVor2πmevrn = n.h  

 T�$,< 3���� ������� H�� & Bohr Postulate ��	�����:  

ω = r.V . 2πmern
2ω = n.h  
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             !�4#	� 9	4�� �;( !�$	����I� !����� 
�"�� ���� 0�� &����� ��� �,	
 H�;� ���*�I�!�$	����+ !�#	��� 3	)� 1 ,2 ,3 
;� 0)����  
��� ����<n = 1, 2 

, 3.  

 
�	7�� �, H�;($ �� ���	+��/	���  

< !������� 3�6� !�#	��� @��� > 

Swing  
�"���� 0��   �4���  
�	$�� 3	�
���	  B���$ >���One Dimensional + 

    �$��< ��1 &��	1��;(   �?F� !�#	��� H�� 
 ����<3 Dimensional  + �#�<;����$ &� 

   ���� !�4#	��� !������    H�4;�	 �4���$��
  F� ��N$ ��������  E2 ..     �	�64� �4�	 3�6

         ��4� 04�� �$��$ ��1	 &��;#�� &� !�F�
      ������ ����)� 3����� �	�6��� ��	��Swing+     �#	��� B�6� !�#	� &� B#�$� ��	 

 ���� 
���#�� &�  ��#	 &���	�;���� �, !�#	� �+  !��4���	 !���)�� !�� &��	 
 
���� �����+   � !�#	��� H��	        >	���  �	�6��� ��	�� 3	) &	�� ��� R�$ n   ��4�	 

������� ��������� �#	��� 3	) �)�� H�������:   

λn = 2.a / n  

         !�#	�� !������2� H�� ���� �;($ &< =�)��$ @���	;�   !��7��	 !������� �
�������:  

   �#	��� 3	)λ+ ������	  ν+      �$� 
���#�� !�#	��� ���	 )�$ @���	 +   4� ���$ N &
 3	�$!������2� 3��6< 3�� B$N�Swing    >	��4� �4���� &� ��� �#	� n – 1+ 

!������2� H��	+ �	�$< ������� �$���� �����	 Kundt Tub J�� �, ��  ��4����
     �	7	 !�#	��� �)�� >����       4�� 9	4���� ��4� &	)���	 �����     &4� R�4$� >

       �"�;$�� )"���� 	< ���� �, J��$� H��	 !������2�.   ���� 
� ���	     @�4�� B)�$ 3
 !�$	����I� 9	��D A      
� 
;��#	� @��� &� '���$���� &�+� A    !�$	����I� !�#	� &
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           �"�4��;� ��4;(X� ��,�� �������	 ���� ��)� ��� !�$	����I� 
����� 0)��. 
 � 8	�����	N       ���#�I� 
�	$�� 3�� �, 
�	#	� 
���� !�$	����1 &+    �-�) �$� @���	 

    �*7� 3���� ���$��  ����  &	    �� !�$	����I� H�� �;� �����%��  
�	$�� &� + 	 �$� ��
   %��F� �,����� H�� ����   
�	$�� 3�� &� �+    3���� ��� �-�) ����� .      ��4�� �4� ��<	 

�    3���� ��� �, !�$	����I� ����+     '�"����, 0����� 
���� 3�� ><      
4��� ��� 3��� �
Quantum number +-�) �#	� 
� ��� 3�� &N� 8	����� &�	  �7�� 
��Y� �

&	����j�+        3���� ��� �, &	����I� ���-X� ���� �� ��<	 + , X     �4$� &	�4���I� &
�   &���< 
�� �, �#	+      �������2� �-����� ���-I� ������ H�� 0���	 .   34�� �#	� �$� 

 
� ���Orbit + �7�� ��	� �(�� Orbit 
���� 8?G �, ���� ���( &���. �,	 
    �I� B� �#	� &����� ��� �� &	����       ��m 0�1 &��� &� B��$� 3������ &� >+   H�4�	 

 
������Orbit&	����I� �-�) ���� 
� ���� �;���� .    

        &	����I� 9�	�$� ����$������ !�#	��� V	/	� 5�)$ =����� 
���� �,	+  3�-	 
         9�	�$ &� !�(�?��� C�� �)�$ V	/	���� 3��$ ��Bohr      &4� H�4�� ��	 

 H�;� ����	 &	����I�
���� 8?G �,+	 � ������� )��$�� ��N$ =����� 9�	�$��� 5����
�������:   

1 �       
���� 8?G �, !�$	����I�  �         =4� �4-���� ��4��$� ���-1 &���� @��
��m 0�1 &��� &� 3�$��� 3�����.&���� !?�� �;���$ �$��A� H��	 .  

2 �     !�$	����I� 3�  �   3� 3�#� �, @��Orbit  �-�)�� J�$ + @���	    3� Orbit 
B� 
���� �-�) B7��+B� �	#	� &	����1 3�� 
� ���� @���	 .  

1    2 &	����I� ���-1 &��� &   ���� 1       34������ &�4���� �, &	����I� �	#	� 2+ 
 �#�	<�� &����� ��� ��� ���� &� >��� �, &	����I� B� �#	4 Orbit .  

    � 3���� &	����I� &��� ���-1	N  E?��� &	�� &  �	 &�����   !-	�f(x,t)+   &4�$	 
!��F�� =/	�� ���� �, 3��$ �$� Stationery state �#	� &	�� >��� !-	�� �, 

De Borglie  &�4����	 !-	�� �, 
�	#	�+     ���4�� 
��4- &	4�� �4�� ��4�	  
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Amplitude ����F D       ����� 
���� �;���� 0*�� ������ H�� �,	  A !-	��	 +  K�7�	 
%����%���� � ComplexesE����� ���� ������� ���?)72� ��� ��G 2 &���:   

ψ = ψ(x,y,z)  

  �4����� �,�F� 3�6� &��� 3� K�7�	Possibility dense    64� �4;$�	� 5
������� ��������:  

ρ(x,y,z) =ψ2(x,y,z)  

     ����� 3���� �� ���	Born  3����2� ��$���X�  wi+      �4������� �4�$���I� H��	 
 �����$� ����#	 �� 
#� �, &	����I� B�Δvi������� �������� 5�6� ��� &�	 :   

wi = ρ(xi,yi,zi) . Δvi  

�� 
�($��� !��F���1 B� �	#	��� &�����	 4 xi,yi,zi Coordinate �, �	#	�  
    
#��� �7$� ��-Δvi      +,( ا�/,- ه�ا ���)أ و      ً��;�< =�
ا <%�B   ا �A@?  ن )&��ن <,

 ��
%/

ρ ا�&�C�D ا�#��� ��� �, �#	� D��� &� K�7�� 3��� 2 ���	 &	����1 �	#	 
�,�F��� H�� �, ��G.  

∑WI = 1  

 �,�F��� ��$���1 3����� K�7��ρ�� �%���	 >	���	 ������� ��������� 0)�� > �)1(   

∑ρ(xi,yi,zi) . Δvi = 1  

	� 
#��� �7�$� 3� V	�#� ��$�	 =�#Volume Element - Δvi%�� +�, X 
;$
	���&	     &	����I� ���-1 &���� 
��� ���� +     �4�� �� ���	 3� &��� ����� ��;�	 

       3������ 5��) &� &���A� 3�� E?�-Integration         
�4��� �4, 34��� E?F� �($� 
=�����+             
��4�� �7���� E?�- !��6	 5�� ���� ��������� 3��� 0�� �$����� >���	 


���#�� �#	��� �����.   

ψ(x) + 2Acos . 2πmevx / n  

3������ 5��) &�	 Differentiation  ���x������� �������� 0�� 37�$ :   

d2ψ/dx2 = 2Acos . 4π2me
2V2 / h2 = 0  
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  ��	��4��� &	����j� ������� �-�)�� 3��$X�	 Ek = 1/2meV
2   H�4� 04�� 

������� �������� 0�� 37�$ ��������:   

d2ψ/d2x + 8π2me/h
2 .Ek . ψ = 0  

   �������� H��	!��� 1     ��� H�#�� �, �#	��� ������ 2�	� x    
��;��� !�$	����j� 
 �;���$	 �/��$��Electron Oscillation.  

,X)���� !�#	��� ������ &��� &	����j� 
� >� ������ 3���� &�� 
� ����� @���
    
���� 8?G �, �	#	��� &	����I�+     N� H�� 0�� B$< >< �      
�	4$�� 34�� !���FN� �

�����2� &��� H��< �#� ���	+ ������ 0)��	 Schroedinger3�6�� ��;� .  

dψ2/dx2+dψ2/dy2+dψ2/dz2+8π2me / h
2 . (E-Ep).ψ + 0  

     � �������� H�� �, H�$�� ���	N  &E      &	����I� !�-�) ��	�#� >	��� < =4�#+ 
@���	Ep�;��$ &	����I� �-�) 
��- >	���  Potential power.   

  3�-	<      �;�������	 �������� H�� 3� �, 3��$ &+   �$�#	 < ��I� &    3�4��$�� &	�4�
�)��� B���� Translation  >	��� >�������$������ @���� H�� �	#		 �)�$�� 


������+       �����?��� �������� �, �(	��� ���- �;� �#	 +    � �;( �� ���	 N   �4����� &
Schroedinger        &	����j� �)��� @����� �, !�#	���  Translation  !4)�< 

     ?��� �������� �, ��� R"��$�� J�$�����+  S� &��	  !)�< 8� R"��$ ������  $��  �4�
 &�� &	����I��#		%��
���� 8?G �, .   

  F� ��N$ �$�	�       ������ �, &�#	���;�� 
�� 3������� E2Schroedinger   ��4;�	 
%#�	�$ ��N$ � �����1s Electron �$� ���  �4, �����A� ������ �, &	����I� �#	


�6��� K >	����� 
��� ��� =� n = 1 ������ 
������	 Heisenberg+, X &� B$
 �,�F��� 3� �	#	 &�����ρ'ا�/��� �� ا E�F� ون�1 �&%s Electron  د���G
�*�وي ا�

  :ا�%����

ρ(r) = ψ2(r) = 1/a3π . e-2r/a  

8���� �$�	 (a) ������� 
���� >	���:  

a = ε0h
2 / πe2me = 5,293.10-11m  
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       �)- 87$ 3���� 8���� ��� ���-	r1        ����  ������� &	����I� �;� ���� �, 
 ���"��� 
���n = 1E���� �	#	��� 3��� ��� �.    

      ���$ ���� �������� �,�F��� �$�	 �4;�,���           !��F��4�1 �4, �4����� &4�� 
4� 

�($���x,y,z  >	����� 
���� 87$ &� &	����I� ��� �,���� ������ &��	 r .  

2r = √ x2+y2+z  

   ����A�� �#	 �� �$�	 A �         >	�4��� �;��6� �������� �,�F��� �	#	 �$�)�< ��� &
�� B���$ �� ���	 
�	$�� 3	� ����$��	 �-����4Term  )�����.  

�,���� �������� �,�F��� ���- ρ�F�A� �)�$ �������� :  

1 �  1 ���� �, �������� ��$���I� �,�F��� ���-1 &1s Electron  �4, �	#	��� 
�� &�  &����� ���4Orbit �#� <%���	 &	�� &�.  

3/����� ������� 3��� =��� Integration������� :  

  ∞  

  ∫ρdv = ∫ 1/a3π. e-2r/a . 4πr2dr  
  0 

∞ 

    = -2/a2. [ e-2r/a . r2 + e-2r/a .r + a2/2 .e-2r/a]  

0  

  = -2/a2.[0+0+0 - ( 0+0+a2/2)] = 1 

2�   &����� 3����2� ���- �	#	��$� ���  &	4�1sElectron  %�	4#	� �  �4, 
 >	��� ���)- 87$ 
�� 8?Gr = .10-10m+  >	��4� �;����/	 Δr = .10-

11m   �#� �,���    3����2� ���� Possibility  +       3�4���� 54��) &� 0)�� ���	
>	����� �,�F���:  

ρ(r1).Δv = ρ(r1).4πr2Δr = ( 1/a3π. e-2r/a . 4πr1Δv)  
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=4/(5,293.10-11m)3 .e- 2.10-10m / 5,293.10-11m . 10-20m2 .10-11m   

=  0,00617 

 ���� �� ��<	� ����2s Electron  +,X    �4����� H�4� �4, �������� �,�F��� &
 ������� �������� >	���  

ρ( r ) = │ψ2( r )│= 1/8a3π. e-r/a . ( 1 - r/2a )2
  

 
�	7�� �, �$�	�������:   

  

  

  

  

  

  

  

  

� &� �,�F��� 3����� !2�� 
�� �;(1s Electron 0�1 4.l Electron + �7��
      �� 3�6� ��� �	;(� &�#	���;�� 
�� �,!�    �� ����� �$�	 !��)��	 �   H�4;(� >

����!�        ������ &	$���� B��� 5�)�	 &	����I� 
� ����� 5���� : 1    ���4�< V	�#� &
�� H�#�2� �, �����4Radial 
��� ��� >	��� n%7-�$ ����	 n-1.  

  

*   *   * 
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